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3qT T'Tt flct1 

[cbI I 

1 31'i c) 

cii 3P-cb tRt ? * I c4 )  rffrr (41) ; 
•3TThIH c4I 

:1. d4i F?1 1I'1* I F.31T4. 31-1T 1-r Tk(I * I 
2.  

ff c Tft 

3• 1jcI 150 VF* I 1ccb '1 E1R(4) cbIch 1* 'i 
3T 3rd z141*, k- 3T TC1 *iI c11ItR? 

>: trcbMicI >2 
4. iIci 1iI r -1c4I IY. r 1  

TkI 
. r -rbI     * I  

: -rhI k1 3rR- cb1-flt ?It tc1N1 -1.1IH cb4 I 
6. 11-jdcbI ft11   *c1I 

4jft cuJ rmft JII I 

'.''7: 

fit  
:, (1) ccb ciI * Ir-ff RI  r11 1  Tt1ct  flc1c1 3rR  

>: (li)   ac1I*,tT 1HI II, t1ii*,> 
rrr  rml1Ik13(-n dk F1IL  I 

(ffi) 3TT%ff RI  c1 iU T'iIc1i *, 1 ffRI 3rR 1T1III *,ti  
 rf fIT '1LtI  

J11 ZJ -qc1c s1c'i ?ti1 jiLtf 
Note: English version of the instructions is printed on the back cover of this Question Booklet. 
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1. Consider the following Peshwas and arrange them in 
ascending chronological order: 

1. Raghunath Rao (Raghoba) 

2. BalajiBajiRao 

3. Narayan Rao 

4. Balaji Vishwanath 

Select the correct answer from the codes given 

below: 

(a) 4,2,3,1 C(b) 3,4,1,2 

(c) 1,2,3,4 d) 1324 

L4 

2. Consider the fol1owingstatements with reference to 

early trade: 

1. There are references of numerous river-ports in 

ancient India. 

2. There were large entrepots of goods and traffic. 

Which of the above statements is/are correct? 

(a) Both 1 and 2 (b) Neither 1 nor 2 

(c) Only 1 (d) Only 2 

3. Arrange the following Sen rulers 

ascending chronological order: 

1. BallalSen 

2. Lakshman Sen 

3. Hemant Sen 

4. Vijaya Sen 

Select the correct answer from the codes given below: 

(a) 4,3,2,1 (b) 2,1,4,3 

(c) 1,2,3,4 (d) 3,4,1,2 

4. Consider the following1 sTatements with reference to 

Bairam Khan: 

1. Akbar gave the title of Khan-i-Khana to Bairam 

Khan. 

2. This title was not given at the time of 

appointment of Bairam Khan as Vazir of 

Empire. 

Which of the above statements is/are correct? 

(a) Both 1 and 2 (b) Neither 1 nor 2 

(c) Only 1 (d) Only 2  
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1. rHr1Rd TE1T31 ccr  3t 

1. RTtjc4 (*iiki) 

2.  

3 .J4j4uJ kid 

4. diifl1rrr 

 ttk i1: 

(a) 4,2,3,1 (b) 3,4,1,2 

(c) 1,2,3,4 (d) 1,3,2,4 

2. ir °ik H11id Rt 1 

1. 

2. 

cb1T/ R */? 

(a) 1 aTh 2 cI)'i) (b) rr 1 r t 2 

(c) ET 1 (d) ET?F 2 

3. iiii I -1I1Idd '1 IR1c*1 3Thtft cbk14.HIIk 

1. iiTr'i 

2. rru1i 

3. *4ri 

4. frrk 

(a) 4, 3, 2, 1 (b) 2, 1, 4, 3 

(c) 1,2,3,4 (d) 3,4,1,2 

4. kH 

1.  

2. 1TiHi t 

rrm .1giti  I 

m -tt/? 

(a) 1 3Th 2 )i) (b) [ 1 T t 2 

(c) M 1 (d) E1T 2 

of Bengal in 

I 
V 
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A.fr 1. 

B. 11i 2. 

C. cbIck 3. 

D. F1F%1 4. 

()
_ 

c4fcb &M  

3c4ficb c414 

4fi1 c1 

1 34q T[ 

5. Write in descending order the following States on the 
basis of their population as per Census, 2011: 
1. Bihar 2. Andhra Pradesh 
3. Uttar Pradesh 4. West Bengal 
Choose the correct answer with the help of the 
following codes: 
(a) 3,4,1,2 (b) 1,3,2,4 
(c) 1,3,4,2 (d) 3,1,4,2 

6. Match List-I with List-Il and choose the correct 
answer using the codes given below the lists 

List-I List-Il 
A. Human 1. International 

Development Report Monetary Fund 
B. World Economic 2. United Nations 

Outlook Environment 
Programme 

C. World Investment 3. United Nations 
Report Development 

Programme 
D. Emissions Gap 4. United Nations 

Report Conference on Trade 
and Development 

Codes: 
A B C D 

(a) 3 1 4 2 
(b) 3 4 1 2 
(c) 1 2 3 4 
(d) 2 3 4 1 

7. Consider the following events and arrange them in 
correct chronological order starting from the earliest 
to the last activity 
1. Pradhan Mantri Gramodaya Yojana 
2. Rural Employment Generation Programme 
3. Prime Minister Rozgar Yojana 
4. Valmiki Ambedkar Awas Yojana 
Select the correct answer from the codes given 
below: 
(a) 2, 3, 4, 1 (b) 4, 2, 1, 3 
(c) 1,2,3,4 (d) 3,2,1,4 

8. The following lists I and II show the names of 
Economists/Authors and their books respectively. 
Match List-I with List-TI and choose the correct 
answer using the codes given below the lists 
List-I List-Il 
(Economist/Author) (Book) 
A. Myrdal 1. Economic Theory and 

Under-developed Regions 
B. Hirschman 2. The Strategy of Economic 

Development 
C. Kaldor 3. Strategic Factors in 

Economic Development 
D. Adam Smith 4. The Wealth of Nations 
Codes: 

A B C P 
(a) 1 2 3 4 
(b) 2 3 1 4 
(c) 3 2 1 4 
(d) 2 1 3 4 
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5. 2011 4) 1JIUHI 3FRW 3Rt *iWi 311-IT 1 

1. f 2. 31ThTT 

3. 3rIkSIT 4. fJTcPIIc1 

1JdI 1k  

(a) 3,4,1,2 (b) 1,3,2,4 

(c) 1,3,4,2 (d) 3,1,4,2 

6. n-I-IIri r 1~ 

ic1*ig) i1: 

___

ft-II 
A. HI'lcl 

B. f fs4)UI 2. 

C. &fTf 3. 

D. 3&ft 4. 

C' 
A B C P 

(a) 3 1 4 2 
(b) 3 4 1 2 

(c) 1 2 3 4 

(d) 2 3 4 1 

7. 

Mtc4 TEfft%TT c111, z1 3Tr1t 

1. rITpi5ft iilc ?1FIT 

2. niThji (*1 ci4 

3. riwtft kIR ZiRT 

4. Ic-J-flP* 31cb* 

(a) 2, 3, 4, 1 (b) 4, 2, 1, 3 

(c) 1,2,3,4 (d) 3,2,1,4 

8. rHrc1rd iI II 

9bHI: r1ft*lff-I  1)-II 

ri rrmi 

C' 
A B C P 

(a) 1 2 3 4 
(b) 2 3 1 4 
(c) 3 2 1 4 
(d) 2 1 3 4 

El El V 

1. FTjI c4 

th kI L111cRJI ct)I49b1 

zth kI IbR1 bi4ct 

olILIR aTh cI1 4z1th 

El El V 
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9. Which of the following statements is not true about 
"ecological niche" ? 

(a) Dominant species occupy extensive and broader 
ecological niche. 

(b) Number of species becomes large in ecological 
niche of natural ecosystem, if resources are 
sufficient. 

(c) Number of species becomes small in ecological 
niche, if resources are sufficient. 

(d) Dominance of single species becomes 
minimum if the resource distribution is 
equitable in a habitat. 

10. Match List-I with List-IT and choose the correct 
answer using the codes given below the lists: 

List-I List-Il 

(Biosphere Reserve) (State) 

A. Simlipal 1. Kerala 

B. Nokrek 2. Odisha 

C. Agasthyamalai 3. Assam 

D. Manas 4. Meghalaya 

Codes: 

A B C i: 

(a) 1 2 4 3 

(b) 3 1 4 2 

(c) 2 4 3 1 

(d) 2 4 1 3 

11. Consider the following statements: 

1. Scientific investigation depends on commitment 
to practical ideals. 

2. Honesty is particularly important in science. 

Select the correct answer from the codes given below: 

(a) Both statements 1 and 2 are correct. 

(b) Both statements 1 and 2 are incorrect. 

(c) Statement 1 is correct, 2 is not correct. 

(d) Statement 1 is correct, 2 is unpredictable. 

12. Which of the following is the correct order of plant 
species from higher to lower order? 

(a) Class — Phylum — Order — Plant Kingdom 

(b) Order — Class — Phylum — Plant Kingdom 

(c) Class — Plant Kingdom — Phylum — Order 

(d) Plant Kingdom — Phylum — Class — Order  
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9. Hf11d t-T 

(a) I1Tfdfl.c  

(b) 1jIcb iftffr 1rr 
N[ t[t *, ?r i1 c  3f J 

Tft * I 

(c) TftftrEt fir i1 kir tpc , r 
i1cI)  

(d) rfc1ff m i.iiti w.ii'i iicikul lii *, 
I{1H tiii *1 

10. -T ft-IT rd 
Tt  

A B C D 

(a) 1 2 4 3 

(b) 3 1 4 2 

(c) 2 4 3 

(d) 2 4 1 3 

11. Hrd 1: 

1. i11i cJrkch3 {jgadl 11 

ft * I 

2. i1iir '1Hl fi*i 
 c *Tt 1*  

(a) ci)';) rr 1 31P 2 rft * 

(b) llH13Th2flcid*I 

(c) R1,2rtT*I 

(d)  

12. rrciri * *1-FT * 
1'I141 bH 

(a) c4 41 — 

(b) '1Ici 

(c) —d _TU 

(d) 11Ic '11td — _c4J1_T[UT 

(7T) 

l.T 

2. 3ulrII 

3.  

4. ft1I 

El El 
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13. Consider the following statements with reference to 
the Justice Party: 

1. The Justice Party opposed Congress by calling 
it a Brahmin dominated organisation. 

2. It claimed the same communal representation 
for non-Brahmins as the Morley-Minto reforms 
had given to Muslims. 

Which of the above statements is/are correct? 

(a) Both 1 and2 (b) Neither 1 nor 2 

(c) Only 1 (d) Only 2 

14. Consider the following statements with reference to 

the Workers and Peasants Party: 

1. The Workers and Peasants Party was formed in 
1927 and was given the form of an All India 
Organisation. 

2. The objective of this party was to work within 
the Congress so that it could be made a more 
revolution inclined party and an organisation of 
the common people. 

Which of the above statements is/are correct? 

(a) Both 1 and 2 (b) Neither 1 nor 2 

(c) Only 1 (d) Only 2 

15. Consider the following events and arrange them in 
chronological order: 

1. East India Association El El 
V 

2. National Indian Association 

3. Indian Society 

4. Indian Association 

Select the correct answer from the codes given below: 

(a) 1,2,4,3 (b) 1,3,2,4 

(c) 2,1,4,3 (d) 1,2,3,4 

16. Consider the following events and arrange them in 
correct chronological order starting from the earliest 
to the last activity: 

1. Royal Indian Navy Revolt 

2. Announcement of Cabinet Mission 

3. Formation of Interim Government 

4. Arrival of a UK Parliamentary Delegation in 
Delhi 

Select the correct answer from the codes given below: 

(a) 4,3,2,1 (b) 4,1,2,3 

(c) 4,2,1,3 (d) 2,4,1,3  
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13. 

1.  

TITk-1i&1 ct  cfJT I 

2.  

T lcH fZff ff 11T4[t t cii 

tT1TI 

th 

(a) 1 3Th 2 ) (b) 1 1 r 2 

(c) 1IT 1 (d) IT 2 

14.   ifjj 1Tf rHrr(d 

1.  
cf ifr iw?r Y 1T V-I I I 

2. Tf i r 3T1?r t 1IH RT 1T 

WE4t 3TFcT bIPIcb1 if 31 

th 

(a) 1 3Th 2 I) (b) T ?It 1 1 t 2 

(c) 1IT 1 (d) Ef?f 2 

15. 1Hrc1rd T?RT31Y frn   ci 

1.  

2. I'1c1 IH 

. rF1 

4. *1ri 

*F: 

(a) 1,2,4,3 (b) 1,3,2,4 

(c) 2,1,4,3 (d) 1,2,3,4 

16. 1Hr1d iI31t fIT cI11. T 

I(1I9b ftc11, 3TftPt 

1III.Tc1cb: 

1.  

2. cfl1T 

3. 3ftf1kc4RTJI&1 

4. 1if?i 1k-1cf frf4r r 

'.ft 

(a) 4, 3, 2, 1 (b) 4, 1, 2, 3 

(c) 4, 2, 1, 3 (d) 2, 4, 1, 3 

El El 
V 

*5* 



17. With reference to the Age of Consent Act, 1891 
consider the following statements: 

1. It was Behramji Malabari, a Parsi reformer 
from Bombay, who advocated for this 
legislation. 

2. The Act was supported by the extremist wing 
led by Bal Gangadhar Tilak. 

Which of the above statements is/are correct? 

(a) Only 2 (b) Neither 1 nor 2 

(c) Only 1 (d) Both 1 and 2 

18. Given below are two statements, one is labelled as 
Assertion (A) and the other as Reason (R). 

Assertion (A) : Shivaji had to face opposition from 
the big Deshmukhs. 

Reason (R) : These Deshmukhs were not in favour 
of an independent Maratha State and wanted to 
remain as feudal lords of Bijapur. 

Select the correct answer from the codes given below: 

Both (A) and (R) are true and (R) is the correct 
explanation of(A). 

(A) is false, but (R) is true. 

Both (A) and (R) are true, but (R) is not the 
correct explanation of (A). 

(A) is true, but (R) is false. 
lL 

19. Which of the following reasons cause4 catastrophic 
coral bleaching and mass coral deaths in the 
Andaman and Nicobar Islands? 

(a) Increased industrial activities in the coastal 
regions 

(b) Increase of 2°  C temperature in the Indian 
Ocean 

(c) Heavy marine pollution 

(d) Decrease of temperature by 4°  C in the Indian 
Ocean 

20. Consider the following statements with respect to 
Ashoka: 

1. The definition of Dhamma given by Ashoka is 
taken from "Rahulovada-sutta". 

2. In the 14th  year of his coronation, Ashoka 
appointed a new type of staff, called 
Dhamma-mahamatras. 

Which of the above statements is/are correct? 

(a) Both 1 and 2 (b) Neither 1 nor 2 

(c) Only 1 (d) Only 2  
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17. 1891 rriri 

1. ct,h1TffR, kIJ+11 i.nciI1I) , 

1 cf)  c) c4cjcc1 c)  ft 

2. ii11N fr T?ff 
gqtfft I *r 1zrr  '.rr I 

rb 

(a) (b) 11T2 

(c) Ti (d) 132.i) 

18. 41 t ir PL 1TQ *, fnt  3TfTr (A) rrr 

cuJ (R)TNI*I 

3T9-R (A) :   ? iii tir 
hk'1I tf I I 

ctuI (R) : I(s1 .cIc11 -Wd kI' t 

311IYk1IJ-id tci 'iI tII J 

ii1i: 

(a) (A) 31 (R)  (R), (A) c)  Tt 

°1I1I 

(b) (A) Ic1d , fbT (R) ft * I 

(c) (A) 3Th (R)  ft *, f (R), (A) cf) it 
°1I{9fl bkc1I * 

(d) (A) Tt *, (R) c1d * 

19. 3I%1T 14Ik  1H11Rc1 if&r ctIkuI 

1lcbI4l ici fR 3T ?F1T 1cIIcl c)  I44cb Hc1 
Tfft? 

V 

(a) It i1 ul1'Ici T [f ff 

(b) 1 1- ftIIIk dI'4 -II'i 2°  C cg  E11 

(c) iii1I IuI 

(d) 1i 1IftiiR dIYIH 4°  C cg)  rff 

20. rHrrdd TJcflr: 

1. 3[ IT , c 

2. 31 14 c THT5F 

I 41ct 1chR bIcI4clI) c fc1 I 

th -T[*/*? 

(a) 12k) (b) Trirt2 

(c) Ti (d) r2 
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(a) 23 (b) 13Th2 

(c) 13 (d) 

21. Which one of the following is not correctly 
matched? 
(a) Article 153 — Office of the Governor 
(b) Article 154 Executive Authority of the 

Governor 
(c) Article 155 Removal of the Governor 
(d) Article 156 — Term of the Governor 

22. Which of the following is/are stated in the 
Constitution of India? 

1. The President shall not be a member of either of 
the Houses of the Parliament. 

2. The Parliament shall consist of the President 
and both Houses. 

Select the correct answer from the codes given below 

(a) Both 1 and 2 (b) Only 2 

(c) Neither 1 nor 2 (d) Only 1 V 
rI  
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21. rHrc1fd [-T ch rt rii *? 

- 

— tici i c4c() 

— kI''-IIc1 cbj I'11 

- 

22.  

1. *ii wi1ftfk IT  iIii I 
2. 31c 1MTftI 

Thi i1: 

(a) 13Th2).i1 (b) r2 

(c) 11T2 (d) r1 

(a) c 153 

(b) 154 

(c) 155 

(d) - 156 

23. Consider the following statements: 

An Amendment to the Constitution of India can be 
initiated by the: 

1. Lok Sabha 2. Rajya Sabha 

3. State Legislatures 4. President of India 

Which of the above statements is/are correct? 

23.  

wftzr rfmT * T1 iI T zcb i4T 51T 

1ct1I 

1. VflTaRI 2. UFtTaRi 

3. ThT-it aRt 4. kI RI 

th -T/T t */? 
(a) 1,2and3 

(c) Only 1  

(b) land2 

(d) 2,3and4  
(a) 1,23TR3 

(c) ri  
(b) 13Th2 

(d) 2,331t4 
V 

24. Which of the following are the functions of the 
Election Commissioner of India? 

1. Conduct of elections for the posts of the Speaker 
and the Deputy Speaker of the Lok Sabha and 
Deputy Chairman of the Rajya Sabha. 

2. Conduct of elections of the Municipal 
Corporations and Municipalities. 

3. Deciding on all doubts and disputes arising out of 
the above elections. 

Select the correct answer from the codes given below: 

(a) 2and3 (b) land2 

(c) land3 (d) None of the above 

25. Which one of the following is not correctly 
matched? 
(a) G.V.K. Rao Planning at the 

Committee Block Level 
(b) Dantwala Committee Rural Credit 

(c) Santhanam Committee Panchayati Raj 
Finances 

(d) Ashok Mehta — Panchayati Raj 
Committee Institutions 

24. fc1H 

1. T[-T 31 TtTT IT kI  W4T 

2. 'ii* yIrc-lcb31 3Th '1R flri-rrjt r  {ciT 
c4c4frjJ 

3. 3rt 1*I -fr1 1iciii T 

25. 

(a) ktc4fflfr —  

(b) c1c1 ci I 3rrJftTr ,juI 

(c) T9-IWf 1fIfF — ciid 1r 

(d) 31E { ffif —  1T 
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28. Which one of the following is correctly matched? 

(a) Ecocline Biodiversity 

(b) Pycnocline Sea water density 

(c) Thermocline Air temperature 

(d) Halocline Sea water temperature 

29. Match List-I with List4I and choose the correct 

answer using the codes given below the lists 

List-I List II 

A. Planting Hearth 

B. Cryophyte Steppe 

C. World Floral Regions 

D. Puszta Grassland 

Codes: 

A B C D 

(a) 4 3 2 1 

(b) 3 4 2 1 

(c) 3 4 1 2 

(d) 1 2 3 4 

1. Hungary 

2. Adolf Engler 

3. CO. Sauer 

4. Arctic Tundra 

El El 
V 

26. Which of the following is the correct sequence of 

phases of Biotic succession? 

(a) Ecesis - Migration - Reaction - Stabilisation 

(b) Ecesis - Migration - Stabilisation - Reaction 

(c) Migration - Reaction - Stabilisation - Ecesis 

(d) Migration - Ecesis - Reaction - Stabilisation 

27. Given below are two statements, one is labelled as 

Assertion (A) and the other as Reason (R). 

Assertion (A) : Relative humidity decreases with 

increasing air temperature. 

Reason (R) : Absolute humidity increases with 

increasing evaporation. 

Select the correct answer from the codes given below: 

(a) Both (A) and (R) are true, but (R) is not the 

correct explanation of (A). 

(b) (A) is false, but (R) is true. 

(c) Both (A) and (R) are true and (R) is the correct 

explanation of(A) 

(d) (A) is true, but (R) is false. 
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26. rHrr(d c -T 

9bH 

(a) 311Tqr - c4j - - 

(b) - c4 lkl - ft2TO1- 

(c) - - - 

(d) c4 Id - 1T.ITtFf - - 

27. 1  TQ *, fnt  t 3fTT (A) tTt 
 cJ4U (R)TiI*l 

31EE21T (A) : rF1Tft 31T1T c4 l ci IH H 

T?1 Zft * I 
eu (R) : ciIuI 31TT 

* I 

(A) 31 (R) i) *, i (R), (A) c)  rt 

°4I21I T* I 

(A) flc1d *, 1 (R) * I 
(A) 31 (R)  * 31 (R), (A) c) t 
°1ftI 

(A) i (R) flcid * 
El 
V 

Ill 
28. rici*? 

(a) c4)ctc1I1 - 

(b) IM1ctc1l1 - dIi1  41cc1 

(C) - cil4Tdu11J.II.1 

(d) - zliU.I 'ic1 dIL1HH 

29. 

rr c 1k 

i-II 

A. tiqu  1. Tt 

B. 2. 1bLIc1k 

C. 3. ft.31t.W 

D. icit R-IFr 4. 3.ii4J~ci 

A B C D 

(a) 4 3 2 1 

(b) 3 4 2 1 

(c) 3 4 1 2 

(d) 1 2 3 4 
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(q)gc'1I 

A. c1k 

B. i'i1 

C. dIdI'frfl_kI1 ctk11 

D. \31 1I  

(TT) 
1. TT 

2. rfldI 

. 

4. 1R& 

A B C D 

(a) 3 2 4 1 

(b) 2 1 3 4 

(c) 4 3 2 1 

(d) 4 2 3 1 

30. Which one of the following pairs (Aluminium 

Plant — State) is not correctly matched? 

(a) Alupuram (Alwaye) Kerala 

(b) Belagavi Karnataka 

(c) Muri Chhattisgarh 

(d) Hirakud Odisha 

31. Which of the following pairs (National Park 

State/Union Territory) is not correctly matched? 

(a) Rajaji Uttarakhand 

(b) Pin Valley Jammu and Kashmir 

(c) Bandipur Karnataka 

(d) Simlipal Odisha 

32. Given below are two statements, one is labelled as 

Assertion (A) and the other as Reason (R). 

Assertion (A) : The Himalayas are still rising. 

Reason (R) : The Indian tectonic plate is colliding 

with the Eurasian plate. 

Select the correct answer from the codes given below: 

(a) Both (A) and (R) are true, but (R) is not the 

correct explanation of (A). 

(b) (A) is false, but (R) is true. 

(c) Both (A) and (R) are true and (R) is the correct 

explanation of(A). 

(d) (A) is true, but (R) is false. 

33. Match List-I with List-IT and choose the correct 

answer using the codes given below the lists  
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30. fHrr(.d  (r 

r-RTt ¶rd t? 
(a) 3Ick (3ct1I) 

(b) 1ciic4) 

(c) 'U — rfli 

(d) lkIj — 3i1ii 

3H — NIJ -ki' ) 
r-i ifr *? 

(a) i'ii'1 

(b) 1I'iff 

(c) ii1,* 

(d) r1HcThM 

32. 4I T1 1 *, fTRi4    31fT[ (A) iT 

cIRi (R) cJ I4J * 

a-T1(A): {Ic11 iitt*I 

cu (R) : I '-c ISI'I ZZUk 

*1 

(a) (A) 3Th (R) ) ) *, (R), (A) c1)  

c1RgJ ?iT* I 

(b) (A) flc1d *, f (R) ifl * I 

(c) (A) 31 (R)  t * 31 (R), (A) t  
oftg T* I 

(d) (A) rt *, fi (R) c1d * I 
IL. 

33. ft-Ic4 fl-IIii 
44 1k 

31. 1HIc1Rd 'PH 

List-I List-Il V 
1! 

(Coal Resources) (States) 

A. Hutar 1. Madhya Pradesh 

B. lb River 2. Chhattisgarh 

C. Tatapani — Ramkola 3. Odisha 

D. Umaria 4. Jharkhand 

Codes: 

A B C D 

(a) 3 2 4 1 

(b) 2 1 3 4 

(c) 4 3 2 1 

(d) 4 2 3 1 
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B. &fNk 

C. $fl1c4 '1 

D. Iri.fN 

A B 
(a) 4 1 2 
(b) 3 2 1 4 
(c) 4 1 2 3 
(d) 3 1 2 4 

C D 
3 

2. iij.ii 

3. Ricii, klcfl, °1I 

4. klcll 

V 

34. Match List-I with List-Il and choose the correct 
answer using the codes given below the lists 

List-I List-Il 
(Canals) (Rivers) 

A. Upper Ban Doab Canal 1. Sutlej 
B. Sirhind Canal 2. Yamuna 
C. Gurgaon Ganal 3. Sutlej, Ravi, Beas 
D. Indira Gandhi Canal 4. Ravi 
Codes: 

A BiC D 

(a) 4 l 3 2 

(b) 3 2 1 4 

(c) 4 1 2 3 

(d) 3 1 2 4 

35. Which one of the following pairs 
(Crop — Peculiarity) is not correctly matched? 
(a) State where rice is grown West Bengal 

three times in a year 
(b) Bihar's contribution to — 157% 

rice production 
(c) State witJrgest area — Uttar Pradesh 

under ricroduction 
(d) Isohyets that decide — 100 cm 

western mit of rice 
productin 

36. Consider the following statements with reference to 
cotton crops 

1. Cotton is mostly a Kharif crop. 

2. Cotton crop requires moderate amounts of 
rainfall varying between 50 — 75 cm annually. 

Which of the above statements is/are correct? 

(a) Both 1 and2 (b) Neither 1 nor 2 

(c) Only 1 (d) Only 2 

37. Given below rej two statements, one is labelled as 
Assertion (A) kn the other as Reason (R). 

Assertion (A)Red soil denotes the second largest 
soil group of Ihdi!a. 

Reason (R) : Red soil surrounds the black soil in the 
south, east and north directions. 

Select the correct answer from the codes given below: 

(a) Both (A) and (R) are true and (R) is the correct 
explanation of(A). 

(b) (A) is false, but (R) is true. 

(c) Both (A) and (R) are true, but (R) is not the 
correct explanation of (A). 

(d) (A) is true, but (R) is false. 

D.STF-1 -23 

34. rn-I cfiJJ ra ir p 

 T Tft ii*  

ft-II 
(f) (T 

A. i1T 1. cicii 

35. Pi1iRci  (WT — 111dI) ift 
¶rd *? 

(a)  

(b)  

(c)  

(d)  

1. ctR1 91d: 14W1*I 

2. ctI4i r1Y. cHfcb 50 75 41 

c4rllcI) 3Ict)c1tft*I 

*/*? 

(a) 1 3Th 2 c1 (b) T ??t 1 T 2 

(c) E[? 1 (d) Ft 2 

ft P TF *, fRi  3T1t (A) 
ecJu (R)T1TT*I 
31EE2TF (A) : c1Ic1'J, dG1 

r i1ft * I 
ct)IuI (R) : c1ii 1 I, E1Tft T iit 3Th 3ik 

(a) (A) 3Th (R) ) t * (R), (A) c) 

(b) (A) nii *, i (R) * I 
(c) (A) 3Th (R) )i) -ifl *, f1F (R), (A) c  Tt 

O4I94I cIkc1I * 

(d) (A) rt *, i (R) Ic'll * I  

36.  

37.  

11 c44 1c1c cg dk 
rc4MI kI'4 

1Ic41 \3I'1 

c4Jc1 \3I'1 

in 4j4 

4Ic4c1 3c-1J'1 41 
T ir ift 
c411T 

    

   

IflIc1 
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39. 

t3ik P: 

  

  

(1Th 

A. 3Tc4t11 

B. tT 

C. -1R 

fl-II 

(2fl//) 

1. ITc1ct 

2. t 

3 4ttT cfr cf  

4. 1fWtM 

NI 
A B C D 

(a) 3 2 1 4 

(b) 4 1 3 2 

(c) 3 2 4 1 

(d) 1 3 2 4 

Iii 

38. Match List-I with List-IT and choose the correct 

answer using the codes given below the lists 

List-I List-Il 

(Name of the City) (Period of being 

Planned)  

D.STF-1 -23 

38. fl -T  4fl-II rd   i 

t31* PR: 

(T7?ThT) ii1 3fT) 

A. cblrH 1. id4hi* ctIc1 
A. Kanchipuram 1. Post-independence 

B. Jaisalmer 2. ColonialPeriod 

C. Kodaikanal 3. Medieval Period 

D. Bhilai 4. Ancient Period 

Codes: 

A B C D 

(a) 2 3 4 1 

(b) 4 3 2 1 

(c) 1 2 3 4 

(d) 3 4 1 2 

B. icik 2. 3IctrT 

C. cIcHJc1 3. IEfTT 

D.19T 4. 1tTT 

A B C D 

(a) 2 3 4 1 

(b) 4 3 2 1 

(c) 1 2 3 4
El 

(d) 3 4 1 2 

39. Match List-I with List-Il and choose the correct 

answer using the codes given below the lists 

List-I List-Il 

(Famous Local (Place/Area) 

Storm) 

A. Mango shower 1. Punjab to Bihar 

B. Blossom shower 2. Kerala 

C. Norwesters 3. Karnataka Coastal Areas 

D. Loo 4. West Bengal 

Codes: 

A B C D 

(a) 3 2 1 4 

(b) 4 1 3 2 

(c) 3 2 4 1 

(d) 1 3 2 4 

40. Which of the following pairs is not correctly 

matched? 

Capital 

(a) Naypyidaw 

(b) Khartoum 

(c) Dublin 

(d) Ottawa  

Country 

Myanmar 

Ethiopia 

Ireland 

Canada 

(a) 11L4  

(b) Ic[H 

(c) c1IH 

(d) 3T21T 

- 1-T1R  LJ 

—t$ 

3 I1k 

- 

40. rrir&ci r-T H *r'ici *? 



41. Consider the following statements with reference to 

Upper Gangetic agro-climatic region: 

1. This region encompasses central and western 

Uttar Pradesh. 

2. This region has more than 130% irrigation 

intensity and 140% cropping intensity. 

Which of the above statements is/are correct? 

(a) Both 1 and 2 (b) Neither 1 nor 2 

(c) Only 1 (d) Only 2 

42. Match List-I with List-Il and choose the correct 

answer using the codes given below the lists 

List-I List-Il 

(Pass) (Height from Sea Level) 

A. Debsa 1. 5360 metres 

B. Rohtang 2. 4850 m+res 

C. Bara-lacha 3. 3978 mètrès 

D. Banihal 4. 2832 metres 

Codes: 

A B C D 

(a) 1 3 2 4 

(b) 3 1 2 4 

(c) 1 4 2 3 

(d) 3 1 4 2 

N 
43. Given below are two statements one is labelled as 

Assertion (A) and the other as Reason (R). 

Assertion (A) : Jute is an indigenous plant of India. 

Reason (R) : Jute is a Kharif crop sown from 

February to June and harvested from July to October. 

Select the correct answer from the codes given below: 

(a) Both (A) and (R) are true and (R) is the correct 

explanation of(A). 

(b) (A) is false, but (R) is true.  1 

(c) Both (A) and (R) are trné;ut (R) is not the 

correct explanation of (A). 

(d) (A) is true, but (R) is false.  J  
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41. t iii j;fff  

1. 1fl 1k 1cc1 * I 

2. i *   130% 3T1I 1T ¶ 
i'1dI 140%%l 

(a) l2)i) (b) rt1T2 

(c) ri (d) t2 

42. ft-i ft-ii 1ir ccr Th: kT 4hi P 
 cl k: 

i-II 

(qj) 

A. Ef3T 1. 53601 Z 

B. 1ciIi 2. 4850 iflz 

C. 1RI c1J'1J 3. 3978f1Z 

D. Pici 4. 2832t& 

A B C D 

(a) 1 3 2 4 

(b) 3 1 2 4 

(c) 1 4 2 3 

(d) 3 1 4 2 

43. ft t   TQ *, ffRit cI 31fTTT (A) u 

1EF (A) :  TT t f T * I 

cu (R) :     c) 

PT idi *1T 1I3 rr2r1MI * I 

h  

(a) (A) Th (R) )i) t t 31"tJ (R), (A) cfl 
°'lLI *k11 * I 

(b) (A) Jc1c1 *, fh?r (R) [ft * I 

(c) (A) (R) ci) ift *, (R), (A) c) ut 

(d) (A) Tt *, f4:;;: (R) * I 
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44. dfl-I c) ff—ll 
 T1T cIk 

(1R) 

A. V1T 

B. 1lTf 

C. NEffE1T4 

D. -c1M'1  

\3ik 

(tTT) 

1. TR 1I1 R 

2. -1JR 1RTT 

3.  

4. 9ft ci 

A B C4  D 

(a) 2 4 1 3 

(b) 1 4 2 3 

(c) 3 2 1 4 

(d) 4 3 2 1 

44. Match List-I with List-Il and choose the correct 
answer using the codes given below the lists 

List-I List-I! 

(Essayist) (Treatise) 

A. Devana Bhatta 1. Dan Sagar 

B. Hemadri 2. Parashar Madhav 

C. Madhvacharya 3. Chaturvarga 
Chintamani 

D. Ballal Sen 4. Smriti Chandrika 

Codes: 

A B C D 

(a) 2 4 1 3 

(b) 1 4 2 3 

(c) 3 2 1 4 

(d) 4 3 2 1 

El EL 
V 

D.STF-1 -23 

45. Given below are two statements, one is labelled as 
Assertion (A) and the other as Reason (R). 

Assertion (A) : Turkish invasion on India was 
successful. 

Reason (R) : There was no political unity in North 
India. 

Select the correct answer from the codes given below: 

(a) Both (A) and (R) are true and (R) is the correct 
explanation ôf(A). 

(b) (A) is false, but (R) is true. 

(c) Both (A) and (R) are true, but (R) is not the 
correct explanation of (A). 

(d) (A) is true, but (R) is false. 

46. Consider the following statements regarding Voice of 

Global South Summit (VOGSS): 

1. India recently concluded its Voice of 

Global South Summit. 

2. The term Global South is related to developed 

countries. 

Which of the above statements is/are correct? 

(a) Only 2 

(b) Neither 1 nor 2 

(c) Only 1 

(d) Both land2 

45. 

 tii (R) T tv-n 

TT(A): I31TI 

c''u' (R) : 3ik 'IT kI*fi1ct 1i p-ft El 
V 

El 

(a) (A) 1%1T (R) 1'I1 Tft * Th (R), (A) c1) i) 

°1R1I T* I 

(b) (A) Ic1d *, r (R) * 

(c) (A) T (R) ik1 tt *, (R), (A) 41 t 

1T* I 

(d) (A) IT *, 1 (R) Ic1d * I 

46. T 3i iki 1: FfZ 

rHrr(d h1R 4W: 

1. wr WTU r iiw 

ii-i 1T* I 

2. k*1 [3T I: 1cirI iit TF14T * I 

rb 

(a) F2 

(b) rt1t2 

(c) 11 

(d) 132)ul 

* 13 * 
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ki   3j iff 
c1c1N 1kic1'i 1 R -dkct[ft 1T?1 (.tffffth) 1r 

RilkcU*? 

1. ifIr 1flri aft 4IH 
2. 1T, th IR'-c1k ftft 31IccI * 

(a) 12)4 (b) [??t1rt2 

(c) E4T 1 (d) Ef?F 2 

"31T" fTT ctH 

1.  

1-nil 
2. fEft P  ii i rnr i?f 

(a) 1 3 2 c)'1 (b) T 1 T t 2 

(c) EW[ 1 (d) RT 2 
1I -rd1-Ik, 2019 3Th t -fFd1- 1k, 2022 

Tr Ut *? 

1. ift%g*1I 

2.  

(a) 2ft*31flc1d*l 

(b) lTh2)'-)flcici*I 

(c) 1U*Th2flcici*l 

47. What does the Intergovernmental Panel on Climate 
Change (IPCC) emphasize regarding reductions in 
greenhouse gas (GHG) emission? 
1. Gradual and limited reductions are enough. 
2. Deep, rapid and sustained reductions are essential. 
Select the correct answer from the codes given below: 
(a) Both 1 and 2 (b) Neither 1 nor 2 
(c) Only 1 (d) Only 2 

48. What does the term "Cereal Yield" refer to? 
1. The amount of cereal crops produced per unit area 

of harvested land 
2. The total production of cereal crops in a given 

country 
Select the correct answer from the codes given below: 
(a) Both 1 and 2 (b) Neither 1 nor 2 
(c) Only 1 (d) Only 2 

49. Which of the following statements is true regarding 
the trend of unemployment rate in India between 
July-September, 2019 and July-September, 2022? 
1. It remained the same. 
2. It declined. 
Select the correct answer from the codes given below 
(a) 2 is true and 1 is false. 
(b) Both 1 and 2 are false. 
(c) 1 is true and 2 is false. = 
(d) Both 1 and 2 are true. 

50. Who prepares/publishes the Global Multidimensional 
Poverty Index (MPI) report? 
1. World Bank and International Monetary Fund 

(IMF) 
2. Oxford Poverty and World Health Organisation 

(WHO) 
3. Oxford Poverty and Human Development 

Initiative (OPHI) 
4. United Nations Development Programme 

(UNDP) 
Select the correct answer from the codes given 
below: 
(a) 2 and 4 (b) Only 4 
(c) 1 and 4 (d) 3 and 4 

51. Given below are two statements, one is labelled as 
Assertion (A) and the other as Reason (R). 
Assertion (A) : The concept of Sustainable 
Development was popularised by the Brundtland 
Report. 
Reason (R) : The Brundtland Report is also known 
as "The Limits to Growth". 
Select the correct answer from the codes given below 
(a) Both (A) and (R) are true, but (R) is not the 

correct explanation of (A). 
(b) (A) is false, but (R) is true. 
(c) Both (A) and (R) are true and (R) is the correct 

explanation of(A). 
(d) (A) is true, but (R) is false.  

47.  

48.  

49.  

rl 
(d) 12'-t*I 

So. k1I  iii it4t  (Wt.ft.3IT.) ftq r 

1T*? 

1. fF& 31 3R1 i (.tt.lb.) 

(1.3ft) 

3 3cf4  iMt Nd fm1Tr (31t.i .31t) 
4. th U I1chN l4dH (tf. 1ft.) 

(a) 2Th4 (b) r4 
(c) 13Th4 (d) 33Th4 

t it  R *, fHi d 3TfI (A) ?f%1T 
jcRUI (R)Tii*I 

3T1E9 t (A) : 1T 4 RIT d) ft 
RI d'1ll I'-II 

cu  (R) : ftq 1 cf 
'1Ic1t * I 

-N 1{: 

(a) (A) f%ff  (R)  t *, 1 (R), (A) 4) t 

(b) (A) Icid , fFr (R) fl * I 

(c) (A) FU (R) '-i) * 311 (R), (A) c) 

oR2I bkdl * I 
(d) (A) flt *, f (R) kid * I 

E1 
EI 

51. 
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52. Consider the following events and arrange them in 

chronological order: 

1. World Heritage Day EI 

2. World Thyroid Day 

3. World No Tobacco Day 

4. International Day of Light 

Select the correct answer from the codes given below: 

(a) 3,1,2,4 (b) 1,4,2,3 

(c) 2,3,1,4 (d) 4,2,3,1 

53. Match List-I with List-TI and choose the correct 

answer using the codes given below the lists 

List-I List-Il 

(Person) (Reason) 

A. Gopi 1. First Indian Gymnast to win 

Thotakura Gold at Asian Championship 

B. Dipa 2. Indian born NASA scientist 

Karmakar who led the team to study 

solar ecliptic impact on 

ionosphere 

C. Aroh 3. First Indian Space Tourist 

Barjatya 

D. Dev Patel 4. British actor who made his 

directorial debut with thriller 

"Monkey Man" 

Codes: 

A B C D 

(a) 4 1 2 3 

(b) 3 1 2 4 

(c) 3 2 1 4 

(d) 2 1 3 4 

54. Given below are two statements, one is labelled as 
Assertion (A) and the other as Reason (R). 

Assertion (A) : During 2023 - 24, Singapore 

emerged as the largest source of FDI to India. 

Reason (R) : The India - Mauritius Tax Treaty 

amendment has brought a major shift in countries as 
major sources of FDI to India. 

Select the correct answer from the codes given below: 

Both (A) and (R) are true, but (R) is not the 
correct explanation of (A). 

(A) is false, but (R) is true. 

Both (A) and (R) are true and (R) is the correct 
explanation of(A). 

(A) is true, but (R) is false. 
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52. Hrc1rd  i IT 

1. T1RR1dfF 

2. il.dt 

3.  

4. 31kIl1 ct)II 

,Th    &1: 
(a) 3,1,2,4 (b) 1,4,2,3 

(c) 2,3,1,4 (d) 4,2,3,1 

53. fl-I t i$t-IT ri ccr 
 1: 
k1l-II 

_

7u1) 

A. 1fl?-1t1J 1. 
N 

B. ichk.Uck 2. NASAI1 
r -fl* 
cbjl T 31 2PTT c 

iff 

C. 3I 3. TT 3TT lT4z 
I1Ic1I 

D. 4. frf~i 

"TTIH c 3f 

A B C D 

(a) 4 1. 2 3 

(b) 3 1 2 4 

(c) 3 2 1 4 

(d) 2 1 3 4 

54. 

ctRLJI (R)TJiI 

3FkEETR (A) : 2023 —24 kii IRr FDI 

I 1c1 c1I Hct)k 3WJ I 

cUj (R) : -  c(  fi iit-Tr nr 

FtT 1Tft frT (FDI) t 

$I c1Ic4 [Zff* 

(a) (A) -1T (R) 1 Tft , (R), (A) *ifl 
oJgJ c çfl 

(b) (A) cii *, fi (R) Wt t I 
(c) (A) NT (R) c) 31 (R), (A) c1 i1 

(d) (A) rt *, fF (R) flcid I 

V 

* 15 * 



 1  

55. What is R2l/Matrix MTM? 

(a) Vaccine against Malaria developed by Serum 
Institute of India 

(b) Vaccine against Malaria developed by Bharat 
Biotech International 

(c) Vaccine against AIDS developed by Serum 
Institute of India 

(d) Vaccine against AIDS developed by Bharat 
Biotech International 

56. Who among the following won the best actress award 

in the Un Certain Regard category of the Cannes 
Film Festival, 2024? N 

(a) Kiara Advani 

(b) Anasuya Sengupta 

(c) Urvashi Rautela 

(d) Sobhita Dhulipala 

57. With reference to RudraM-Il Missile, which of the 

following statements is/are correct? 

1. It is an air-to-air missile. 

2. It was tested in Rajasthan in May 2024. 

Select the correct answer using the codes given below: 

(a) Only 2 (b) Neither 1 nor 2 

(c) Only 1 (d) Both 1 and 2 
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55. R2l/ctIMTM cI*? 

(a) 4i *ftr ii rr4d 'T1fi 
TstT 

(b) lRI 1l4)~cb k1H1 Rl rc1ctr4d1 'TkftqT 

fti, tE& 

(c) ffF 1j tf fIT ji rr  T 

fi i 

(d) 1TF tI41~ct I'1c1 RI  wr 
I 

56. 1Hrr(d cbI.-41 r1, 202431t 

r ftm c4J1  aif~t*t r cblk 

(a) flTcra1Ic4Iuft 

(b) 3T'i'.cii 

(c) TffkII 

(d)  

57. r-II fkITF 

1. i c-c4  I 'ITt Tft fwu 
2. fI Ita3vr H 2024 rrr fizrr i .rr 

,.n. i1: 

(a) 2 (b) rt1;ft2 

(c) 1 (d) 12li) 

58. 
58. Match List-I with List-Il and choose the correct 

answer using the codes given below the lists 

List-I List-Il 

(Newly Elected Head (Country) 
of the State) 

A. Gitanas Nauseda 1. Iceland 

B. Luong Cuong 2. Vietnam 

C. Halla Tomasdottir 3. Lithuania 

D. Jose Raul Mulino 4. Panama 

Codes: 

A. B C D 

(a) 4 1 2 3 

(b) 3 1 2 4 

(c) 3 2 1 4 

(d) 2 1 3 4  

1 -IIrd 

T1k cl1: 

('1q <!q  

A. 1. 

B. rr3 1T 2 

C. I11~4 3. 

D. 'I'ki *I\31 4. 

A B C D 

(a) 4 1 2 3 

(b) 3 1 2 4 

(c) 3 2 1 4 

(d) 2 1 3 4 
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61. ft-I fl-IITiii   1 
1T ct T rR 

k1,:1rlI 

A. q1—bl41 

B. ddR 

C. -iikii 

D. ft 

C' 

A B C D 

(a) 3 1 2 4 

(b) 3 1 4 2 

(c) 2 3 1 4 

(d) 4 1 2 3 

61. Match List-I with List-Il and choose the correct 

answer using the codes given below the lists 

List-I 

(Country) 

A. Spain — France 

B. Switzerland 

C. Bulgaria 

D. Italy 

Codes:  

List-Il 

(Mountain) 

1. Alps 

2. Apennine 

3. Pyrenees 

4. Balkan 

A B C D El El 
V 

(a) 3 1 2 4 

(b) 3 1 4 2 

(c) 2 3 1 4 

(d) 4 1 2 3 

59. Which one of the following pairs (Deccan Trap — 

Peculiarity) is not correctly matched? 

(a) Depth of middle trap 1200 metres 

approximately 

(b) Intertrappean beds Fossils of sea plants 

and animals 

(c) Depth of lower trap — 150 metres 

approximately 

(d) Depth of upper trap — 450 metres 

approximately 

60. Given below are two statements, one is labelled as 

Assertion (A) and the other as Reason (R). 

Assertion (A) : Jet streams discovered during World 

War II are high altitude easterly winds. 

Reason (R) : Jet streams flow with a speed of 

300 — 500 kmlhour. 

Select the correct answer from the codes given below: 

(a) Both (A) and (R) are true and (R) is the correct 

explanation of(A). 

(b) (A) is false, but (R) is true. 

(c) Both (A) and (R) are true, but (R) is not the 

correct explanation of (A). 

(d) (A) is true, but (R) is false. 
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59. rHrr(d 4) (;r  — id) ii-T t 

(a) cf& 9TPPT 1200 4k* 

(b) Tffici qTc1t 3 

flc) 

(c) 14-'1'tZ[ - 

(d) c11T — Pl'T450ff 

60. t I 1i TQ *, fTR aT1-IT (A) rrr 

jcUj (R)Ti.it*I 

3T1iTT (A) : F ft 
mr' T3tRct  dJ ,Hc1  Tft td1T k tT* I 

cu (R) :  300-5001 rlhi1 

(a) (A) 31 (R) ci) t * 31 (R), (A) 41 t 

o4l(1I 1T* I 

(b) (A) flczlcl *, 1F (R) It * I 

(c) (A) 3 (R) k) t *, 1 (R), (A) t rt 
OIN&141 

El El 
(d) (A) rt*, 1(R) fl1ci *

V 
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(b) 1Ic1 

(d) HcI'1 

(b) Na2CO3  

(d) NaHCO3  

El El 
V 

62. Plants and animals that live on land are called: 

(a) Abiotic 

(b) Aquatic habitants 

(c) Terrestrial habitants 

(d) Biotic 

63. The joint where the neck joins the head is: 

(a) Pivotal joint (b) Saddle joint 

(c) Hinge joint (d) Ball and socket joint 

64. The disease-causing microorganism among these is: 

(a) Archaea (b) Pathogens 

(c) Bacteria (d) Protozoa 

65. Milk is an example of: 

(a) Foam (b) Sol 

(c) Aerosol (d) Emulsion 

66. The formula of baking soda is: 

(a) KHCO3 (b) Na2CO3  

(c) K2CO3 (d) NaHCO3  

67. CPR stands for: 

(a) Cardio Progranmé Rescue 

(b) Cardiac Pulsatile Revision 

(c) Cardiopulmonary Resuscitation El El 
(d) Cardiopulmonary Revision 

68. The only vein that carries oxygenated blood is: 

(a) Pulmonary vein (b) Cystic vein 

(c) Cardiac vein (d) Hepatic Portal vein 

69. Diabetes is the most common disorder associated 
with: 

(a) Kidney (b) Gall bladder 

(c) Liver (d) Pancreas 

70. The recent global pause during COVID-19 pandemic 
was caused due to 

(a) SARS — CoV 1 (b) H5N1 

(c) SARS — CoV-2 (d) MERS — CoV-2 

71. A bus covers the first half of a certain distance with 
speed v1  and the second half with a speed v2. The 
average speed during the whole journey is: 

(a) (b)  
v1 v2 2v1 v2  

v1 +v2 v1 +v2  

vi  + V2  
(c)

2  

D.STF-1 -23 

62. 4jjr   E1Tk i71i 31st 1Icik c  ciT *? 

(a) 3ch 

(b) r1ifl 
(c) iftt P1Tft 

(d)  

63. c4  \1'k 'i1 r4R 1K.1d1 *: 
(a) 1c11 (b) rk 

(c) iiL (d) iT1Ik 

64. '1JI 

(a) 31f51T (b) 1TrUT 

(c) ctl{i (d) t1T 

65. I ict1 cul 

(a) LbIH 

(c) 1iki 

66. FT*: 

(a) K}ICO3  

(c) K2CO3  

67. CPR R)iT[4*: 

(a)  

(b) Jfc4JTr 

(c)  

(d) cj jj 

68. c4  lc4 4.4I1 fTU 11 ictcl ctd c1 ft * 

c41Id*: 

(a) c 4 i)'11 fliu (b) rrct fTU 
(c) irii1TU (d) 1iTU 

69. 

(a) ctcI (b) IiiLni 
(c) (d) 31TU• 

lc1 4)I-l9 IHU *RI I1ct fPJT t 

ct)RUI 

(a) SARS — CoV-1 (b) H5N1 

(c) SARS — CoV-2 (d) MERS — CoV-2 

i Ilcb Pifci  t31T1 v iPtT 
* t TT 31 V2 I ft * 1  

31riI ctTft? 

(a) (b) 
Vi + V2  

vi  V2  

Vi + V2  

2 v1  v2  

Vi + V2  
(c) (d) \JV1 V2 

2 
(d) .jvi v2  

70.  

71.  
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matched regarding peculiarities 

project? 

(a) Dam's length 

of Ramganga 

- 8258 metres 

6flct~k 

(2flT) 

 

7 -iH) 

 

1.  

2.  

3P'I 31 jcifl D. ftt 

In 
a 

A B C D 
EI 

(a) 4 1 2 3 

(b) 2 3 1 4 

(c) 4 1 3 2 

(d) 2 4 1 3 

72. Which one of the following pairs is not correctly 

(b) Hydropower generation - 198MW 

capacity 

(c) Location - Garhwal 

(Uttarakhand) 

(d) Irrigated area - 6 lac hectares 

73. Consider the following statements with reference to 

cultivated area of some countries of the world: 

1. In comparison to USA, China and Japan, India 

has highest geographical area under cultivation. 

2. India's location in tropical monsoon region 

helps diversified cropping all through the year. 

Which of the above statements is/are correct? 

D.STF-1 -23 

72. kIIIl '.i1k41'i'ii c) r i13 ri-'iriRci ujj 

cb1-TTt ri *? 

(a) 8258 4fick 

(b) 1I1c1 TfF 3ciIc'1 198 IIc1k 

(c) fft - JIc1ft1 (314J) 

(d) riri cn 

N 
N 

73. ft 
R1f1 r: 

1. USA, rflj I1H c) dcl'1I i 

3Tbc1H * I 

2. \3tUJ HH1 IctIkUI 1WF 

(a) 1 3Th 2 1') (b) T 1 1 2 (a) Both 1 and2 

(c) Only 1  

(b) Neither 1 nor 2 

(d) Only 2 

74. Match List-I with List-TI and choose the correct 

answer using the codes given below the lists 

List-I List-I! 

(Place) (Confluencing Rivers) 

A. Devprayag 1. Alaknanda and Pindar 

B. Rudraprayag 2. Alaknanda and 

Bhagirathi 

C. Karnaprayag 3. Bhagirathi and 

Bhilangna 

D. Tehri 4. Alaknanda and 

Mandakini 

Codes: 

A B C D r1 

(a) 4 1 2 3 

(b) 2 3 1 4 

(c) 4 1 3 2 

(d) 2 4 1 3 

(c) ti N(d) t2 
In 

74. fi-I ff-II I1I 

'T c 3rR 
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75. Consider the following statements with respect to the 

climate of Western Europe 

1. Western Europe receives rainfall in all months. 

2. Western Europe is located in the belt of 

Westerlies. 

Which of the above statements is/are correct? 

D.STF-1 -23 

75. 11fi tr t McIl T rHrr(d Tf 

1.  

2.  

f-T/ r it 
(a) Both land2 

(c) Only 1  

(b) Neither 1 nor 2 

(d) Only 2  
(a) 132c)') 

(c) [i  

(b) t1Ft2 

(d) f2 

76. Consider the following mountains and arrange them 

in correct order from West to East by their location: 

1. Karakoram 2. Pontic 

3. Hindu Kush 4. Zagros 

Select the correct answer from the codes given below: 

(a) 2,4,3,1 (b) 2,3,4,1 

(c) 4,2,3,1 (d) 4,1,2,3 

77. Which one of the following pairs (River — Direction) 

is not correctly matched? 

(a) Amur river — North-East 

(b) SyrDarya — North-West 

(c) Angara river — North 

(d) Mekong river — South-West 

78. Which one of the following pairs 

(Country — Oil field) is not correctly matched? 

Iran Haft Kel 

Kuwait Kashagan 

Saudi Arabia Dhahran 

Iraq Zubair 

79. Consider the following statements with reference to 

Mediterranean climate: 

1. It receives rainfall in winter season. 

2. Due to winter solstice, air pressure belts shift to 

the South. 

Which of the above statements is/are correct? 

(a) Only 2 (b) Neither 1 nor 2 

(c) Only 1 (d) Both 1 and2 

76. 14iRi t f 

1. chIIc4) NJ 2. '-iif 
3. FJ 4. iii 

C 

(a) 2,4,3,1 (b) 2,3,4,1 

(c) 4, 2, 3, 1 (d) 4, 1, 2, 3 

77. rHrr(d 4i ( 3Et W1T irr) 
ftm*? 

(a) iic1 —  

(b) ri -  

(c) *iPJ'ic1 L  

(d) i1T,1c1 $— vr1 4  

78. rHrrd (—i 

(a) ki' — 41t 

(b) $r 
(c)  

(d) W 

79. 11T1 i4 rrr Tt 1 

1.  

2. flictic-fti ITF cIRUI c1lI1 11Tf5QT c) 

ftr iift * 

*t-T/ it */*? 

(a) 12 (b) t1t2 

(c) ri (d) 12  

 

I1 

(a)  

(b)  

(c)  

(d)  
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80. With reference to the Anti-Maoist operation that took 

place in April 2024, which of the following 

statements is/are correct? 

1. It took place in Gadchiroli district of 

Maharashtra. 

2. The operation was launched by BSF and 

District Reserve Guards. 

Select the correct answer from the codes given below:  

D.STF-1 -23 

3t 2024 & -1rft 

-T/ t 

1. 4I JR114k[1 rK31T%1T 

2. 1FH BSF (ft.L1.L4.) L ftrE 

 iki iU IT 

kI: 

(a) 2 (b) r1iTt2 

(c) T1 (d) 13Th2 

(a) Only 2 

(c) Only 1 

(b) Neither 1 nor 2 

(d) Both 1and2 

81. With reference to "PraVaHa" software developed by 

ISRO, which of the following statements is/are 

correct? 

1. It is a path-breaking feat by Vikram Sarabhai 

Space Centre. 

2. Initial aerodynamic design of space vehicles 

requires evaluation of large number of 

configurations. 

Select the correct answer from the codes given below: 

(a) Only 2 (b) Neither 1 nor 2 

(c) Only 1 (d) Both 1and2 

82. Given below are two statements, one is labelled as 

Assertion (A) and the other as Reason (R). 

Assertion (A) : In April 2024, India delivered the 

BrahMos Supersonic Cruise Missile to Philippines. 

Reason (R) : The Missile has a 

490 kilometres. 

Select the correct answer from the codes given below: 

(a) Both (A) and (R) are true, but (R) is not the 

correct explanation of (A). 

(A) is false, but (R) is true. 

Both (A) and (R) are true and (R) is the correct 

explanation of(A). 

(A) is true, but (R) is false. 

RI 1Ict11d "PraVaHa" c.R 

rHrr4 d 

1.  44mi c 3ft 

*1 N 
In 

2. I1JI1c 

t &ii i*fii i.jc  cç) aiicctc1I 

*1 

4h;  

(b) r?t12 

(d) 13Th2)i 

rn 

rn 

VT *, 1TR lc   TfT (A) i 

t't*RUI (R)TI*I 

3T1IR (A) : 3?t 2024 1I 1bcN1 

c(U (R) : TzIIcI cc1 iIRcb T'R1T 490 lTh* I 

(a) (A) FIT (R) Wt *, (R), (A) t rt 

o1I9I * 

(b) (A) flc1d *, flF (R) *
V 

(c) (A) F%1T (R) i) il * 31 (R), (A) 

o1I91IiT*I 

(d) (A) Wt *, f (R) Ic1d * 

range of 

I1 

(a) t2 

t1 

80.  

81.  

82.  
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85. 

83. With reference to the "Kohima Peace Memorial and 

Eco-Park" which of the following statements is/are 
correct? 

1. Its inauguration programme was held 
8th March, 2024 at Kohima. 

2. It will be developed by South Korea. 

Select the correct answer from the codes given below: 

(a) Only 2 (b) Nit1er 1 nor 2 

(c) Only 1 (d) Bç1i 1 and 2 

('J 

84 With reference to Mobility Arrangement for 
Talented Early-professionals Scheme" (MATES), 
which of the following statements is/are correct? 

1. This is a bilateral framework between India and 
Australia. 

2. In this scheme Indian graduates (aged 

18 — 30) with knowledge and skills in specific 

fields of study will be offered to live and work 
in Australia for up to two years. 

Select the correct answer from the codes given below: 

(a) Only 2 (b) Neither 1 nor 2 
(c) Only 1 (d) B1i 1 and 2 

85 With reference to the Internatipal Conference on 
Nuclear Security (ICONS — 20243, which of the 
following statements is/are correct? 

1. This conference was held on 25 May, 2024. th 

2. India has recently reconstituted an 

inter-ministerial Counter Nuclear Smuggling 
Team (CNST) to strengthen the nuclear security. 

Select the correct answer from the codes given below: 

(a) Only 2 (b) Neither 1 nor 2 

(c) Only 1 (d) Both 1 and 2 
I 

86. With reference to the PififlhLao — Paise Pao" .ir 
campaign, which of the followig statements is/are 
correct? 

1. This is related to reduce forest fires and to 
provide a source of income to villagers. 

2. The Chief Minister of Uttarakhand launched 
this campaign. 

Select the correct answer from the codes given below: 

(a) Only 2 (b) Neither 1 nor 2 
(c) Only 1 (d) Both 1 and2  

D.STF-1 -23 

83. "T rrf -q' 

1. T 'zi-fl1 T4r 8 J-flcl, 2024 cii fiiT 
1 TTFT I 

2. rUrtftTRI  

1k 

YkiUU T Tt W1[ WF1 (ICONS — 2024) 

rHrrd 

1. 1PTU25 1, 2024 ct) ri 

2. ir Ici kHi T c4)  rci 

&HI d -k 1H  (CNST) T 
T3[ frr * 

j{jt. : 

(a) 12 (b) I1Tt2 

(c) T1 (d) 13tt2k1 

Tt" rHrr(d 

1. c  3T[  c44 fl1Uft cf 3f 

2. frrr c  cE1 I 

(a) IfT 2 (b) r 1 rt 2 

(c) r1 (d) 1k2i) 

on 

86. 

(a) F2 (b) r?1t1T2 

(c) ri (d) 1t2) 

84. "T11   1fli 
HT' (MATES), rHrclrd 

1. 31 31FfJTT fr1 * i 
2. ZflT 

Tk 'TrT (18 30 c  c  11) 
dcb c) 

ift' 

(a) 2 (b) r'?ft1Tt2 

(c) T1 (d) 1t21 
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87. With reference to "Nepal — India International 87. 

Sanskrit Conclave — 2024", which of the following 

statements is/are correct? 

1. It was held at New Delhi. 

2. This three-day conclave was organised by the 

Niti Anusandhan Pratisthan. 

Select the correct answer from the codes given below: 

(a) Only 2 (b) Neither 1 nor 2 

(c) Only 1 (d) Both 1 and 2  

D.STF-1 -23 

— mr *1 cp — 2024" 

rHrd TtM? 

1.  

2. d1—f4ftT 1Ic1'1 ft 31ITf ifi RI 

 TI 
El .El 
v 

1 1  

(a) [2 (b) 11tt2 

(c) TT1 (d) 132i1 

88. With reference to "Lunar Polar Exploration 

Mission" (LUPEX), which of the following 

statements is/are correct? 

1. This is an India — Japan partnership for their 

joint moon mission which shall be launched in 

the future. 

2. JAXA is responsible for developing the lander 

for the mission, while ISRO is handling the 

rover and launch vehicle. 

Select the correct answer from the codes given below: 

(a) Only 2 (b) Neither 1 nor 2 

(c) Only 1 (d) Both 1 and 2 

89. With reference to "Guidelines for Elimination of 

Corporal Punishment" (GECP), which of the 

following statements is/are correct? 

1. The Tamil Nadu School Education Department 

issued these guidelines on 26th  April, 2024. 

2. These guidelines are focussed on safeguarding 

the physical and mental well-being of students. 

Select the correct answer from the codes given below: 

El 

90. With reference to "FLY91" which of the following 

statements is/are correct? 

1. It is a newly launched airline in India. 

2. Its inaugural flight took off from Manohar 

International Airport on i8 March, 2024. 

Select the correct answer from the codes given below  

88. "clk t1Lc1T)H iT" (k1) 

Hr1d -r*/? 

1. 'lWt —  1IH N1Th fTr R 

2. JAXAT{1V.* rbrd 

r* *, ii4 ISRO   TT 

'.ft  1: 

(a) t2 (b) it1Tt2 

(c) T1 (d) 12c)4 

89. "Hkcb r11T-1v' (GECP) T 

HR1d -Tt*/*? 

1. 26 31k, 2024t cii iiir I11Tr 

F-fT *0 

2. iii—fii IIM4 31t  T92t 

cT*I 

(a) t2 (b) t?t1Tt2 

(c) t1 (d) 

90. " ci4t91" (FLY91) iRci 

*/*? 

1.  

2. [Et 1Tff H 18 1-HcI, 2024 c*;) rjp 

31ST 3T   I 

(a) (b) rt1rt2 

(c) c1t1 (d) 13Th2ci) 

(a) Only 2 

(c) Only 1 

(b) Neither 1 nor 2 

(d) Both 1 and 2 1 
El 

(a) Only 2 

(c) Only 1 

(b) Neither 1 nor 2 

(d) Both 1 and 2 
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91. ft-I -II fft[ ffj 
kTti* PR1: 

I-II 
(PrTIIH) (3T( 11i) 

A. srwr4sff 31TTT fRT - 1Tr14T 1. , 2016 

B. r1FF1 2. 2014 
C. ci 1TT 1IrTr - 3. WRF, 2019 
D. 1TTft ci RT 4. 1c14-tk, 2016 

A B C D 

(a) 2 3 1 4 

(b) 4 3 2 1 

(c) 1 2 3 4 

(d) 3 4 1 2 

93.  

94.  

92. Which indicators are used in Human Development 
Index (HDI)? 

1. Income level 

2. Education 

3. Condition of environment 

4. Life expectancy 

Select the correct answer from the codes given below: 
(a) Onlyl,2and3 (b) Only 1 and 4 
(c) Onlyl,2and4 (d) Only 1 and 2 

93. Arrange the following schemes launched by the 

Government of India in chronological order and 
choose the correct answer from the codes given 
below: 

1. Swachh Bharat Mission 

2. Pradhan Mantri Kaushal Vikas Yojana 
3. Pradhan Mantri Garib Kalyan Yojana 

4. Pradhan Mantri Mahila Shakti Kendra Scheme 
Codes: 

(a) 2,1,4,3 (b) 4,2,1,3 
(c) 1,2,3,4 (d) 3,1,2,4 

94. Malthus argued that the population grows in a  
progression, while agricultural production/food 
supply grows in a progression. 

From the following options, choose the correct 
answer to fill in the blanks: 

(a) Linear, Exponential 

(b) Exponential, Linear 

(c) Arithmetic, Geometric 

(d) Geometric, Arithmetic 

92. TR fTT c4.) jc __
. -\  

T1ITiIdI*? 

1. ]Td4. 

2. IT
V 

3. Irc1i%1ir 

4.  

(a) Ef?1 1, 2 3Th 3 (b) EtT 1 Th 4 

(c) 1, 2 3Th 4 (d) Ef?F 1 aTh 2 

TF 1kchR kI c)  rrrd 

IIh ftff fTf c 

1, TrfF 

2. RTRT 

3. 45ff aI cuj 

4.  

(a) 2, 1, 4, 3 (b) 4, 2, 1, 3 
(c) 1,2,3,4 (d) 3,1,2,4 

i-ii  wrFr rff 
rrd km 

31 

(a) f4Idtc1 

(b)  

(c) T,4I1Zd 

(d) 1Zd14ci[ijd1i 

91. Match List-I with List-IT and choose the correct 
answer using the codes given below the lists 

List-I List-Il 
(Yojana Name) (Date of Launch) 

A. Pradhan Mantri Awas 1. May,2016 
Yojana - Gramin 

B. Jal Jeevan Mission 2. October,2014 
C. Swachh Bharat 3. August, 2019 

Mission - Gramin 
D. Pradhan Mantri 4. November, 2016 

Ujjwala Yojana 

Codes: 

A B C D 

(a) 2 3 1 4 

(b) 4 3 2 

(c) 1 2 3 4 

(d) 3 4 1 2 
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95. According to the Economic Survey, 2022 - 23, what 
fiscal policy response did the Government of India 
undertake in response to the aggravated global supply 
disruptions? 
1. Decreasing food and fertiliser subsidies 
2. Increasing taxes on fuel and imported products 
3. Reducing taxes on fuel and certain imported 

products 
Select the correct answer from the codes given below 
(a) Only 3 (b) Only 1 

(c) Only 2 (d) None of the above 

96. Match List-I with List-IT and choose the correct 
answer using the codes given below the lists: 

List-I List-Il 

(Social Security (Beneficiaiy 's 
Programme) Contribution) 

A. Pradhan Mantri Shram 1. Beneficiary's 
Yogi Maan-Dhan Yojana choice 

B. Pradhan Mantri Jeevan 2. 55 - 200 
Jyoti Bima Yojana per month 

C. Pradhan Mantri Suraksha 3. 436 per year 
Bima Yojana 

D. Atal Pension Yojana 4. 20peryear 

Codes: 
A B C D 

(a) 2 3 4 1 
(b) 2 4 1 3 
(c) 1 2 3 4 
(d) 3 2 1 4  

D.STF-1-23 

95. 3iTf   TUT, 20224-23 3W1T, 13I T'T1 
-i*i. -ft #r 

c
____ 

1. irr 1tE4 iFt ci.fl 

2. t 31t 3T41PFT 3LI 1  1H 

3. tT1 31 3Th1T1frf 3'1T c4.J  

(a) E1 3 (b) ER? I 

(c) 4fl?F 2 (d) 3qRT i1 

96. -I ft-TI 
T7T1*il: 

(-IIHII 71l)
____ 

A. *ftTT-T 1. 

B. 2. 
i1RT 

c. 
RT 

D. TTRT 

A B C D 

(a) 2 3 4 1 
(b) 2 4 1 3 
(c) 1 2 3 4 
(d) 3 2 1 4 

97. Ftt t [ [ i& Trt *, fR  3TR (A) T 

ftc cf-j4  (R)TII*t 
fw (A) fTT -d* 31 cII 

Tft1T'1IdI*I 
c4U  (R) : rfr r1 31t jf 1Ik-1 cf tP* 

(A) [IT (R)  * 31 (R), (A) c) t 

(A) lc1d *, f9 (R) it * 

(A) T (R) cIl t *, 14 (R), (A) c  ft 

 ?IT* I 

(d) (A) rt , f (R) flcid 

98. mr fii , 2030 t4 c  

T-T/ N *1*? 

fTT 3{fT n 

2. I__1 i 11 31 JI [ft14 

ctTT 

3. ¶49hHTid1 

4.  

(a) 1 3Rt2 (b) 1,2, 3 3Th4 

(c) (d) 1,23Th3  

97. Given below are two statements, one is labelled as 
Assertion (A) and the other as Reason (R). 
Assertion (A) : Development is being defined as 
improving living standards and welfare. 
Reason (R) : Growth in per capita income is not a 
sufficient measure of development. 
Select the correct answer from the codes given 
below: 

(a) Both (A) and (R) are true and (R) is the correct 
explanation of(A). 

(b) (A) is false, but (R) is true. 

(c) Both (A) and (R) are true, but (R) is not the 
correct explanation of (A). 

(d) (A) is true, but (R) is false. 

98. Which measures are essential to achieve Goal 4 of 
the Sustainable Development Targets, 2030? 

1. Making education free and compulsory 

2. Improving basic school infrastructure and 
embracing digital transformation 

3. Expansion of agricultural programmes 
4. Increasing investment in technology 
Select the correct answer from the codes given below: 

(a) 1 and 2 (b) 1, 2, 3 and 4 

(c) Only 1 (d) 1, 2 and 3 

(f1IflT?72ff7 

?Jfr.1jcfrf) 

t/rrT%ff 

55-200 

3. 436f11 

4. 20Ifr4 

9.. 
Ii 

(a)  

(b)  

(c)  

1. 
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1cc1'1I 
10 2. ff-I i *II *1i 1ii 

A. TR1 cE1 r1R1 frRT 1. 266 
B. 1r 3TFT 2. 3i 360 
C. 1rthr ITTdFtF 3. 280 
D. T?r 4. 148 

C' 

A B C P 
(a) 3 1 2 4 
(b) 4 1 3 2 
(c) 1 3 2 4 
(d) 1 2 3 4 

ffr f 

1.  
2. 1 TREf ciII4. 3 IdTfT 
3.  

4. c)T C'  

(a) 2Th3 (b) 33Th4 
(c) 1Th2 (d) 13Th4  

103. 

D.STF-1 -23 
99. Which of the following freedoms is not guaranteed 

by the Indian Constitution under Article 19? 
(a) Freedom to assemble peacefully and without 

arms 
(b) Freedom to own, acquire and dispose of 

property 
(c) Freedom to move freely throughout the country 
(d) Freedom to practise any trade or profession 

100. Given below are two statements, one is labelled as 
Assertion (A) and the other as Reason (R). 
Assertion (A) : According to the Constitution of 
India, the same person cannot function as the 
Governor of two or more States at the same time. 
Reason (R) : Article 153 of the Indian Constitution 
states that there shall be a Governor for each State. 
Select the correct answer from the codes given 
below: 
(a) Both (A) and (R) are true, but (R) is not the 

correct explanation of (A). 
(b) (A) is false, but (R) istrne. 
(c) Both (A) and (R) are true and (R) is the correct 

explanation of (A). 
(d) (A) is true, but (R) is false. 

101. Which one of the following pairs is not correctly 101. 
matched? 
(a) Equality before — Guaranteed to both 

citizens and 
non-citizens 

— Guaranteed only to 
Indian citizens 

100. ff 1? 1T , fn  3Tfti (A) ?F%IT 
wrr (R) T I * 

frr (A) : ithr iir   t rf 

cu (R) : 1t11 3(Ri 153 T 
III * 1t rc.1L. ct kI'1M 
h' ifi: 

(a) (A) ?fT (R) ) *, i (R), (A) c1) t 
c1II T* 

(b) (A) Ml *, f (R) rt * 
(c) (A) IT (R)  rt * (R). (A') cfl 

99. i:p;;k 19 rHrrd 't*r-ft  
crT ffrFr RI 1Ttt t  
(a)  
(b) perf , I 

(c) 1z.cjcjlcll 
(d) .c4çj ç J 

Law 

(b) Equality of 
opportunity in public 
employment 

(c) Creating a new State — Power of Parliament 
(d) Altering the name of — Power of a State 

a State Legislature 
102. Match List-I and List-Il and choose the correct 

answer from the codes given below the lists: 
List-I List-I! 

A. Consolidated Fund of India 1. Article 266 
B. Finance Commission . 2. Article 360 
C. Financial Emergency 3. Article 280 
D Comptroller and Auditor 4 Article 148 

General of India 
Codes: 

A B C D 
(a) 3 1 2 4 
(b) 4 1 3 2 Ei 
(c) 1 3 2 4 
(d) 1 2 3 4 

103. Which of the following are envisaged by the Right 
against Exploitation in the Constitution of India? 
1. Abolition of untouchability 
2. Prohibition of human trafficking and forced 

labour 
3. Prohibition of employment of children in 

factories and mines 
4. Protection of interests of minorities 
Select the correct answer from the codes given below 
(a) 2 and 3 (b) 3 and 4 
(c) 1 and 2 (d) 1 and 4 
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(d) (A) *, f4 (R) flcil * I I. 

(a) TRT — '1IJIFkc1i c4 1IJJ{.c4' 
dHHc1I 

(b) kI31 — f R?r IJIFkcb 
1HHc1I 

(c) 1Jc) — cif 
TRT RT 

(d) ffI'tTRTT — kI cf 
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rHrr(d 3111T[  (q 

1Id)* ? 

(a) ii, fF27 

(b)  

(c) J-II31, j4 

(d) ii, 
c-L c4 -T 411T * o f 311'{ffl Tfr 

11 ft 3 &c1c'1flc1 c1I 

(a) REM (b) RAM 

(c) ROM (d) 3J4ctd 

Hrrd (°F) ?1IT rii (°C) 

j r1IT*? 

(a) °C= -°F+32 (b) °C °F-27315 

(c) °F= °C+32 (d) °F °C-27315 

rHrr(d - 9 f*? 

(a) 1Ii)i rrr I 

(b) 1ft c1Ic4I FI c{jc 1/i'*ii 

1k1T'i)ck1I%i 

(c) ct1i11H 

(d) c) cikct ofl'i t* 

*, 3TTT (A) T 

ic) cIkuI(R)TJII*I 

3f1T(A) : CO2, SO2  31NO2 1Tft1 c1 

Tft* 31 3T?ffT cT 'i 
cUj (R) : 1*[ i ictii, 1c-bk lct1l Th 

ctzi ff 1 c4) 3-c [ç1 

 trrft* I 

(a) (A) 31 (R) ci) Tt * 31 (R), (A) 41 rt 

T* I 

(b) (A) Ic1d *, 1F (R) Tt * 

(c) (A) (R)  it *, (R), (A) cfl t 
OI2I ?c4dI * 

(d) (A) [t *, fiif (R) ftld * I 

'/cfj 111-1{V1l 4zth T 41I #F cf 3E4 

1Hf1fd T-T/ *i*? 

1.  

qfiI 1'T TI 

2. 5 2024  c4.cI ][lc1 c  J 

(a) t2 (b) i11ft2 

(c) f1 @) 12i  

104. Which one of the following groups have only input 
devices? 

(a) Mouse, Keyboard, Printer 

(b) Mouse, Keyboard, Projector
V 

(c) Mouse, Keyboard, Monitor 

(d) Mouse, Keyboard, Scanner 

105. The content of computer memory which is 
non-volatile, even when the power goes off is: 

(a) REM (b) RAM 

(c) ROM (d) None of the above 

106. Which of the following is a correct relationship 
between Fahrenheit (°F) and Celsius (°C) degrees? 

(a) °C= (b) °C= °F-27315 

0 (c) F=-°C+32 (d) °F= °C-273'15 
5 

107. Which of the following statements is not 

true? 
(a) Chromosomes are composed of DNA and 

Protein. 

(b) Nucleus of a cell does not play a role in cellular 
reproduction. 

(c) Chromosomes contain information for 
inheritance. 

(d) Functional segment of DNA is called genes. 

108. Given below are two statements, one is labelled as 
Assertion (A) and the other as Reason (R). 

Assertion (A) : CO2, SO2  and NO2  gases get 
dissolved in rain water and produce acid rain. 
Reason (R) : Atmospheric air is polluted due to high 
concentration of gases like carbon dioxide, sulphur 
dioxide and oxides of nitrogen. 

Select the correct answer from the codes given below: 

(a) Both (A) and (R) are true and (R) is the correct 
explanation of(A). 

(b) (A) is false, but (R) is true. 

(c) Both (A) and (R) are true, but (R) is not the 

correct explanation of (A). 

(d) (A) is true, but (R) is false. 

109. With reference to the 
7th  India — Indonesia Joint 

Defence Cooperation Committee meeting, which of 
the following statements is/are correct? 

1. In this meeting Indonesia agreed to enhance 
collaboration in the areas of defence, industry, 
maritime security and multilateral cooperation. 

2. This meeting was held at Jakarta on 
May 5, 2024. 

Select the correct answer from the codes given below: 

(a) Only 2 (b) Neither 1 nor 2 

(c) Only 1 (d) Both 1 and 2  
* 27 * 

104.  

105.  

106.  

107.  

108.  

109.  
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110. With reference to "FWD 200B", which of the 
following statements is/are correct? 

1. This is India's first indigenous bomber "UAV" 
aircraft. 

2. Its payload capacity is 100 kgs. 

Select the correct answer from the codes given below: 
(a) Only 2 (b) Neither 1 nor 2 
(c) Only 1 (d) Both 1 and 2 

111. With reference to "India - Australia Economic 
Co-operation and Trade Agreement (md - Aus 
ECTA)," which of the following statements is/are 
correct? 

1. This is a first-of-its-kind initiative of FTAs. 

2. The meeting was attended by the Commerce 
Secretary of India, Shri Sunil Barthwal. 

Select the correct answer using the codes given below: 
(a) Only 2 (b) Neither 1 nor 2 
(c) Only 1 (d) Both 1 and 2 

112. Match List-I with List-IT and choose the correct 
answer using the codes given below the lists 

List-I List-Il 
(Joint Exercise,) (Dates) 

A. India - Uzbekistan Joint 1. February 
Military Exercise,. 19-27, 
"DUSTLIK" 2024 

B. India - France Joint Military 2. May13-26, 
Exercise, "SHAKTI" 2024 

C. Harbour phase of Indo - US 3. April 
Joint Exercise, Tiger 15-28, 
Triumph, 2024 2024 

D. MILAN, 2024 4. March 
18-25,2024 

Codes: 

A B C D 
(a) 3 4 1 2 
(b) 3 2 4 .1 
(c) 4 2 1 3 
(d) 2 3 14 

113. With reference to "Shaksgam Valley", which of the 
following statements is/are correct? 

1. This valley is a strategic key region, that is part 
of Pakistan-occupied Kashmir (PoK). 

2. India has lodged protest against the 
infrastructural development being carried out 
by China in this valley. 

Select the correct answer from the codes given below: 
(a) Only 2 (b) Neither 1 nor 2 
(c) Only 1 (d) Both 1 and 2  

D.STF-1-23 

110. "FWD 200B" Wt 

1. '4W T T1T cHcp "UAV" fnr * 
2. T'TiT 100 rl)J1 * I 
ff 1I  JI1  31*  

(a) 12 (b) R1t2 
(c) fi (d) 121l 

- JT 31Tf 'u 3i °1 * 

(Ind - Aus ECTA)" 

[ Tt */? 

1. FTA (b.t.1.) r 

r * I 
2. t3 ffIIT rT ft r Tr 

'TTrfTI 

(a) r2 (b) rt1rt2 
(c) T1 (d) 132) 

t-II frf ffir 

( 3? -qii) 

A.  

(DUSTLIK) 
B. 'TFF - Ftr 4m 2. 13 - 26, 2024 

"T" (SHAKTI) 
C. -TRT - * m u 1*IT T 3. r 15-28, 

im -i i-i'.t 2024 
(Tiger Triumph), 2024 T 
TT 

D. frFf (MILAN), 2024 4. -ii.1 18 -25, 
2024 

A B C D 
3 4 1 2 
3 2 4 1 
4 2 1 3 
2 3 1 4 

"cfJJJ4 Tr' 1H11Rd 

1. Uflfc4   U1 *, ) 
t(PoK) iT* I 

2.  

chj1j * 

(a) 12 (b) r1rt2 
(c) (d) 132il

112. 

113. 

(iitT 

1. t19-27, 
2024 

El El 
V 
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R4R I* 1T c)  rHrr(d Th[RTt  

c1I9 ft-rr 411 i4i 1Tr c 

1. 1dThhVffIchR1 cbl49 1  

2. rkti-d1 ii lirrrr 

3. PST n4UT ki 1k iRft 31f1fiPT 

4.  

(a) 1,2,3,4 (b) 3,4,1,2 
(c) 2,3,4,1 (d) 4,3,1,2 

t4j rHrr(d -T/T[ 

(4 ____ 
1. i1tr 3iF1d aiu * 

2. TftT 36TT v rHr I 

3.  

(a) F1312Tt*I 

(b) r3rt*I 
(c) T1It*I 
(d) t23Th3Wt*I 

P TQ *, ffl  3TftTT (A) T 

Jc1) cUJ (R)Ti4l*I 

irr ai rr ii d1.T* 

cu (R) 

Thrtft*i 

(a) (A) 1T (R) kl * 31 (R) (A) 4 Wt 

°4I91I 

(b) (A) I1d *, 1 (R) Wt * 

(c) (A) TIT (R) k) Tt *, i (R), (A) ofl Wt 

oI&gI T* I 
(d) (A) t *, f4 (R) Ic1d * 

, rHrRd r: 

1. TkI14ctkUI 

2. ifIT 31T14T t 

3. lI131ftF1Ttc+) 
1rh IZRTt "R H 

1IH \3r3I.1I 11I Tt -H'1l 1T klcbcll 

(a) [2Th3N (b) 1,2t3 
(c) Fr 1 2  L)  (d) 3 

it rr 

1. 75%jjJflui 3R50% Hk1k11 dh 

II I 
2. W 1U 

11TJNI*I 
3. 5 2010 ctl ciIqfZIT dvii -1T I 

(a) 2 3Th 3 1Tt * I (b) 1 3 ft * I 
(c) 1,23Th3t*I (d) 12t*I  

114.  

115.  

116. 

117.  

118.  

El El El El v 

114. Arrange the following schemes launched by the 
Government of India in chronological order and 
choose the correct answer from the codes given 
below: 

Integrated Rural Development Programme 

2. Swarnj ayanti Gram Swarozgar Yoj ana 

3. National Rural Employment Guarantee Act 

4. Pradhan Mantri Jan-Dhan Yojana 
Codes: 
(a) 1,2,3,4 (b) 3,4,1,2 
(c) 2,3,4,1 (d) 4,3,1,2 

115. With reference to Economic Growth, which of the 
following statements is/are correct? 
1. Indian Economy is an Underdeveloped Economy. 
2. Indian Economy is a Mixed Economy. 
3. J.M. Keynes is the Father of Economics. 
Select the correct answer from the codes given below: 
(a) Only 1 and 2 are correct. 
(b) Only 3 is correct. 
(c) Only 1 is correct. 
(d) Only 2 and 3 are correct. 

116. Given below are two statements, one is labelled as 
Assertion (A) and the other as Reason (R). 
Assertion (A) : The value of national currency 
determined by demand and supply of foreign 
currency is called flexible exchange rate. 
Reason (R) : Demand and supply of the foreign 
currency is being determined by the Central Bank. 
Select the correct answer from the codes given below: 
(a) Both (A) and (R) are true and (R) is the correct 

explanation of(A). 
(b) (A) is false, but (R) is true. 
(c) Both (A) and (R) are true, but (R) is not the 

correct explanation of (A). 
(d) (A) is true, but (R) is false. 

117. With reference to India, consider the following 
events: 
1. Nationalisation of Banks 
2. Formation of Regional Rural Banks 
3. Adoption of villages by Bank Branches 
Which of the above events can be considered as steps 
taken to achieve "financial inclusion in India"? 
(a) Only 2 and 3 (b) 1,2and3 
(c) Only 1 and 2 (d) Only 3 

118. With reference to "National Food Security Act", 
which of the following statements are correct? 
1. It will cover up to 75% rural and 50% urban 

population. 
2. It has special focus on nutritional support to 

women and children. 
3. It was enforced on July 5, 2010. 
Codes: 
(a) 2 and 3 are correct. (b) 1 and 3 are correct. 
(c) 1, 2 and 3 are correct. (d) 1 and 2 are correct. 

* 29 * 
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119. Given below are two statements, one is labelled as 
Assertion (A) and the other as Reason (R). 
Assertion (A) : There is a positive relationship 
between Human Development Index (HDI) and the 
Sustainable Development Goals (SDGs) ranking of 
Indian States. 

Reason (R) : The underlying dimensions of SDG 
targets are closely related to education and health 
aspects. 

Select the correct answer from the codes given below: 
(a) Both (A) and (R) are true, but (R) is not the 

correct explanation of (A). 
(b) (A) is false, but (R) is true. 
(c) Both (A) and (R) are true and (R) is the correct 

explanation of(A). 
(d) (A) is true, but (R) is false. 

120. List-I contains the names of countries, whereas 

List II shows the Rank as remittances received in the 
year 2022. Match List-I with List-Il and choose the 
correct answer using the codes given below the lists 

List-I LIst-Il 

(Country) (Rank) 

A. Mexico 1. First 

B. China 2. Second 

C. India 3. Third 

D. Philippines 4. Fourth 

Codes: 

A B C 

(a) 4 1 2 

(b) 2 3 1 

(c) 3 4 2 

(d) 1 2 3 

121. Match List-I with List-Il and choose the correct 
answer using the codes given below the lists 

List-I List-Il 

(State) (Rank according to expenditure 

on infrastructure 2019 — 23) 

A. Maharashtra 1. First 

B. Uttar Pradesh 2. Second 

C. TamilNadu 3. Tt4 

D. Karnataka 4. Fouh  

D.STF-1 -23 

119. Ir 1? , in*  3Tf1%Tr (A) 1T 
c4;) cu (R) T iirr * 

T1E9rT (A) : HH1 l4TT cbIcb (4.t.3RT.) c 
f it (t.fl.) 1NTft?r rthi u 

cU (R) : 1II ftm 31NTT 1T.ITi1t T 
IT I 

(a) (A) ?1%IT (R) ) t *, f (R), (A) t 
oftg4J 

(A) ftll i(R) rt * I 
(A) ?FT (R)  * (R), (A)  

iT* I 
(A) t *, f (R) Ic1d * I 

120. 

RI iiftict  ctH (y3mTtT1rr 
v-n * -I i fl-II fRF it 

 I: 

(T) 

A. Ict1cI 1.1 

B. 2.ft 

C. wr 3.T 
D. fNi 4. 

A B C D 
(a) 4 1 2 3 
(b) 2 3 1 4 
(c) 3 4 2 1 
(d) 1 2 3 4 

-II frkF 3 

PR: 

(2019-23 c11(frf 3717?T j<H/3qt 

3q?7 B7 ;H) 

A. Rt 1. we-pr 

B. irr 2. fftr 

C. ciI1 ft1'1I 3. FthT 

D. ikf 4. 

A B C D 
(a) 1 2 3 4 
(b) 2 1 3 4 
(c) 4 1 2 3 
(d) 2 3 1 4 

Codes: 

A B C 

(a) 1 2 3 

(b) 2 1 3 

(c) 4 1 2 3 
(d) 2 3 1 4 

(b)  
(c)  

(d)  

121. 

(7) 

EI 
V 
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122. Given below are two statements, one is labelled as 
Assertion (A) and the other as Reason (R). 
Assertion (A) : Article 352 of the Indian 
Constitution deals with the declaration of an 
emergency. 
Reason (R) : An emergency may take place at any 
time. 
Select the correct answer from the codes given below: 
(a) Both (A) and (R) are true, but (R) is not the 

correct explanation of (A). 
(b) (A) is false, but (R) is true. 
(c) Both (A) and (R) are true and (R) is the correct 

explanation of(A). 
(d) (A) is true, but (R) is false. 

123. of the following statements are correct 
regarding ICT based e-Governance? 
1. e-Governance reduces the transparency of 

Government. 
2. e-Governance reduces the cost of Government. 
3. e-Governance increases citizens input into 

Government. 
4. e-Governance increases 

red tapism. 
Select the correct answer from the codes given below 
(a) 2 and 4 (b) 2 and 3 
(c) 1, 2 and 3 (d) 2, 3 and 4 

124. The UPSC derives its functions from which of the 
following sources? 
1. The Constitution 
2. Parliamentary Laws 
3. Executive Rules and Orders 
4. Conventions 
Select the correct answer from the codes given below: 
(a) 1 and 2 (b) I and 3 
(c) Only 1 (d) 1, 2, 3 and 4 

125. Which one of the following is correctly matched? 
Constitutional Body Constitutional 

Article 
Election Commission - 165 

National Commission - 148 
for Scheduled Castes 
Finance Commission - 263 
National Commission - 340 
for Backward Classes 

126. Identify the correct chronological sequence of the 
following: 
1. Shankari Prasad vs. Union of India 
2. Sajjan Singh vs. State of Rajasthan 
3. Golaknath vs. State of Punjab 
4. Kesavananda Bharati vs. State of Kerala 

Select the correct answer from the codes given below: 
(a) 1,4,3,2 (b) 3,2,1,4 
(c) 1,2,3,4 (d) 3,4,2,1 

D.STF-1-23 

ft t 1 , fi  ftr (A) 
7c4 ) cUJ (R)Tii*I 
3E2T1 (A) : 1TftT 4TT T 352 
3IIc1ctIdl1 fF 1uJ, 4Ei1r* 
cIIuI (R) : cid'1i fIifr fII~1 '4t ii c1'1 

T?ft * 
,fl.  
(a) (A) [1T (R) i) W *, i (R), (A) c)  wfl 

(b) (A) iii *. 1(R) rft * 
(c) (A) ?FT (R c) Wt * 31 (R), (A) c11 zi1 

(d) (A) rt (R) flc11 * 
rr 

1. T kctIkcR11IR41dl c4)  cT*I 
2. -[R cR1 i iff* I 
3. iilcii*I 

4 T[, cII) cR1  
t1k jit: 

(a) 23Th4 (b) 2313 

(c) 1 23 (d) 2 33Th4 

i * 1cii_311j ct1 H11d f wf 
drT4-irmi 1IH 

1. 4lTr! 

2 aicfk V 

3. 

4. 'Ik-1kI' 

(a) l3Th2 (b) 133 

(c) t1 (d) 1,2,334 

125. tJc 7 

iifriT1 

(a) fc1ItH 3IT4IT[ - 165 

(b) U 148 

(c) 1111TLfl - 263 

(d) u'sr f[T c44 3]u11T - 340 

126. rHrrd cRi 
1.  
2. *i ui 

3. 1cHIT*HH 11 kI'4 
4. Jcfi.  iwft  
ThI  
(a) 1,4,3,2 (b) 3,2,1,4 
(c) 1,2,3,4 (d) 3,4,2,1 

Which 

bureaucratic 

EI 
V 

(a)  
(b)  

(c)  
(d)  

122.  

123.  

124.  
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List-I 

A. Cooperative Federalism 
B. Bargaining Federalism 
C. Quasi Federalism 
D. Federalism with 

Centralising Tendpçy 
Codes: 

A B CfJD 

(a) 2 4 31 
(b) 2 1 4f\j3 
(c) 4 3 1 2 
(d) 3 2 4 1 

List-Il jj'Ii 

1. K.C.Wheare 
2. Ivor Jennings 
3. Morris-Jones 
4. Granville Austin 

EEl 

127. Match the Amendments with their year of 
implementation: 

A. 42nd Amendment 1. 1985 
B. 52nd Amendment 2. 2011 
C. 86th Amendment 3. 1976 
D. 96th Amendment 4. 2002 
Select the correct answfiom the codes given below: 

A B CjD 
(a) 2 1 3;j4 
(b) 4 3 2t) 1 

(c) 1 2 3 
(d) 3 1 4 

128. Match List-I with List-TI and choose the correct 
answer using the codes given below the lists  

D.STF-1 -23 

127. TTRt T 3R i11..c'i t 11[T iR: 
A. 42T1 1. 1985 

B. 52T?tTr 2. 2011 

C. 86fr?Tr 3. 1976 

D. 4. 2002 

A B C D 
(a) 2 1 3 4 
(b) 4 3 2 1 
(c) 1 2 3 4 
(d) 3 1 4 2 

128. ff-T  ff-ii fr tfn 

____
ft-II 

A. ii 1. ft. 
B. 1iifi *4J 2. 
C. 31d c4 I 3. 
D. 1ui c) rarfr 4. 

T9T 1c4R 

A B C D 
(a) 2 4 3 1 
(b) 2 1 4 3 
(c) 4 3 1 2 
(d) 3 2 4 1 

4 

2 

129. Which one of the following is not a level in the 
three-tier Panchayati Raj recommended by Balwant 
Rai Mehta Committee? 
(a) Panchayat Samiti 

(b) Gram Panchayat 

(c) ZillaPanchayat y' 
(d) Nyaya Panchayat ) 

130. According to the Lokpal and Lokayuktas Act, 2013 
the Lokpal would be apjiointed by the President after 
obtaining the recommendations of a Selection 
Committee, with the Prime Minister as chairperson 
and consisting, among others, of the following: 
1. Chief Justice of India or a Supreme Court Judge 

nominated by him 
2. Chairman of the Rajya Sabha 
3. Speaker of the Lok Sabha 
4. Leader of Opposition in the Lok Sabha 

Select the correct answer from the codes given below: 
(a) 1, 2 and 3 (b) 2, 3 and 4 
(c) 1, 2, 3 and 4 (d) 1, 3 and 4  

129. *1cd ku J4J i-P1T TETTTft *uj 

k-dk?*? 
(a) 1ituu.uiifrrfr 

(b) .4IHTh1Ic1 

(c) '.cJç 

(d) '-ui L4c1j4c1 

130. ç )c 2013 
c1cI c1 c) fr1 kIfr RI Lb W-H 1flT cf) 
 IH 

rHrr1 

ffFftf 1): 

1. [ TIT'CThT Zff  3* Ri t1:1 
\3c11H '-1I4 Jc1 T Tf1T 

2. tr1T 

3. T3WT 

4.  

(a) 1,23 (b) 2,34 
(c) 1,2,33Th4 (d) l,33P4 
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133. 1iH11R1c1 

9r1: lt 

1. RT?tT3Ttc1Ic4 

2. TR11hTr1T 

3. kIWI TTT 

4. 11TT 

(a) 3,1,4,2 (b) 4,3,1,2 

(c) 1,3,4,2 (d) 4,2,3,1 

134. i-I 1 -II II 31 

 c11: 

()_ 

A. çif 
B. iiftT 

C.  

D. 3T Tft1T 

A B C D 

(a) 3 2 4 1 

(b) 1 2 4 3 

(c) 3 2 1 4 

(d) 1 2 3 4 

V 

131. Consider the following statements with reference to 

the Congress Socialist Party: 

1. The Congress Socialist Party was formed in 

January 1934. 

2. Jawaharlal Nehru formally joined this party due 
to his sympathy for socialism. 

Which of the above statements is/are correct? 

(a) Both land2 (b) Neither 1 nor 2 

(c) Only I (d) Only 2 

132. Consider the following events and arrange them in 

chronological order: 

1. Murder of Abul Fazi 

2. Death of Sheikh Mubarak 

3. Death of Faizi 

4. Death of Daniyal 

Select the correct answer from the codes given below: 

(a) 2,1,4,3 (b) 3,2,1,4 

(c) 2,3,1,4 (d) 2,4,3,1  
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131. ET   trrt 

1. *iciU 1934 J 1T[ 

2. dHIic1l FPT  cU Th1Ih r1 

1cH6*c1ft1 z1 c1 11{ft1 I 

-T/ Tt *1*? 

(a) 1 31 2 i) (b) T I r t 2 

(c) T1 (d) t2 

132. Hc1rd ZRT3 1i1F%1T 

1.  

2.  

3 

4. M4l  

(a) 2,1,4,3 (b) 3,2,1,4 

(c) 2314 (d) 2431 

133. Consider the following events and arrange them in 

chronological order: 

1. Linlithgow August Offer 

2. Cripps Mission arrival in India 

3. Ramgarh Congress Session 

4. Resignation letters of Congress Ministers 

Select the correct answer from the codes given below: 

(a) 3,1,4,2 (b) 4,3,1,2 

(c) 1,3,4,2 (d) 4,2,3,1 

134. Match List-I with List-IT and choose the correct 

answer using the codes given below the lists 

List-I List-Il 

(Book) (Writer) 

A. Hindu Polity 1. D.D.Kosambi 

B. The Wonder That Was 2. A.L.Basham 
India 

C. An Introduction to the 3. K.P. Jayaswal 

Study of Indian History 

D. The Early History of 4. Vincent Arthur 

India Smith 

Codes: 
A B C D 

(a) 3 2 4 1 

(b) 1 2 4 3 

(c) 3 2 1 4 

(d) 1 2 3 4  
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135. Given below are two statements, one is labelled as 
Assertion (A) and the other as Reason (R). 

Assertion (A) : Most of the early nationalists 
considered British rule as an act of providence 
destined to bring modernisation. 

Reason (R) : They complained only against 
"Un-British rule" in India. 

Select the correct answer from the codes given below 

(a) Both (A) and (R) are true, but (R) is not the 
correct explanation of (A). 

(b) (A) is false, but(R) is true. 

(c) Both (A) and (R) are true and (R) is the correct 
explanation of(A). 

(d) (A) is true, but (R) is false. 

136. Which one of the following statements is not correct 
about William A.J. Archbold? 

(a) He was the Principal of Government College, 
Dacca. 

(b) He was the Principal of Lahore College, 
Lahore. 

(c) He was the Principal of MAO College, Aligarh. 
(d) He was the Principal of the Muir Central 

College, Allahabad. 

137. Consider the following events and arrange them in 
chronological order starting from the earliest: 

1. Vellore Mutiny 

2. Death of Nana Fadnavis 

3. Recall of Wellesley 

4. Anglo-Nepalese War 

Select the correct answer from the codes given below 

(a) 2,3,1,4 (b) 4,1,3,2 

(c) 2,3,4,1 (d) 3,1,2,4  
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135. 1~ 'T *, fR   fr (A) 
cbjkul (R)Tii *1 

3R(A) :1iI)3tr) 
ifT*ii 14 '1 c1Iil 

c1HI T I 

u' (R) : T34 IIcN1 rr 'rrr "r-1i r' 
f1T ftI 

'.n i1: 
(a) (A) 311 (R) ) Tt *, f (R), (A) 4) 

°4gI 

(b) (A) cii *, 1F1 (R) Tft * 
(c) (A) 3Th (R) li1 {t * 31 (R), (A) t [t 

c flg4  

(d) (A)t*, 1(R) flcici * I 

136. 1i1i  I. 

r-rri Tt*? 

(a) klc'k iinii4ti 
(b)  

(c) rrr.r r, 31?fl1T rrrr I 

(d) i'tr, citl1Ic I1 I 

137. 1HrciRi 
iii'i. fti: 

1. kf 

2. HlUIcc1 4.ft4 EI 
V 

3. ftct)cilyciHl 

4.  

(a) 2,3,1,4 (b) 4,1,3,2 

(c) 2,3,4,1 (d) 3,1,2,4 

138. Match List-I with List-TI and choose the correct 
138. 

answer using the codes given below the lists 
List-I List-I! 
(Revolt) N  (Leader) 

A. Paika Revolt 1. Edachena Kungan 
B. Bareilly Revolt 2. Radharam 

C. Malabar Revolt 3. Mufti Muhammad Aiwaz 
D. Sylhet Revolt 4. Jagabandhu Bidyadhar 

Mahapatra 

ft-I  ff-II ¶fT 3t 

i1-I 

( cqchcll) 

A. mift 1.  

B. fW 2. Ue1TWf 

C. i Ri I1 R 3. dI 4tcrru ir 

D. 4. 4-fti'-ii 
Codes: 

A B C D 
(a) 4 3 1 2 I 
(b) 3 4 1 2

V 

(c) 3 2 1 4 
(d) 2 1 3 4 

A B C P 
(a) 4 3 1 2 
(b) 3 4 1 2 

(c) 3 2 1 4 
(d) 2 1 3 4 
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139. 1Hr1Rc1 i ir 

1. TTfT 

2.  

3. ~c4d1f 

4.  

139.  Consider the following days and arrange them in 

chronological order: 

1. World Health Day 

2. National Maritime Day 

3. World Athletics Day 

4. World Red Cross Day 

Select the correct answer from the codes given below: 

(a)  

(b)  

(c)  

(d)  

V 

4,2, 3, 1 

2,1,3,4 

2,3,4,1 

3,2, 1,4 

4,2, 3, 1 

2,1,3,4 

2,3,4,1 

3,2, 1,4 

(a)  

(b)  

(c)  

(d)  

140. Match List-I with List-IT and choose the correct 

answer using the codes given below the lists 

List-I 

(Award) 

A. Aryabhatta 

Award, 2024 

List-I! 

(Recipient) 

1. Amitabh Bachchan 
-iciI-II 
(1k1cf) 

311iR1N 1-c*1 

140. fl-I c ft-II r1d 
 1: 

(-I<) 

A. 3TcbR,2024 1. 

B. 4-cI-dk, 2024 2. 1 I1-c1I '1I. z1t1 Ik 

3. t1°1IkI 

4. 3TcMI 

C. cidi 

2024 

D. J cRuI 

2024 

D 

V 

A 
(a) 3 

(b) 3 

(c) 4 

(d) 2 

4 

2N14 1 

2$NT 3 
Lfl 

, 

B. World Literary 2. Mamta G. Sagar 

Prize, 2024 

C. Lata Deenanath 3. Dr. Subba Rao 

Mangeshkar Pavuluri 

Award, 2024 

D. Goldman 4. Alok Shukla 

Environmental 

Prize, 2024 

Codes: 

A B C D 
(a) 3 2 1 4 

(b) 3 2 4 1 

(c) 4 2 1 3 

(d) 2 3 1 4 

141. Match List-I with List-TI and choose the 

answer using the codes given below the lists: 

correct 

List-I! 

(Disease) 

1. Beriberi 

2. Blindness 

3. Rickets 

4. Scurvy 

141. ft-I ft-II 1ii 41 
 {: 

ki1'l-II 

flqciPfrI) (C1I) 

A. IkiFH A 1. 1IU 

B. 1dFiH B 2. 31TR 

C. 1ifiC 3. fAi 

D. 1IFH D ff 

C' N 
A BrC D 
4 3 Lfl2 1 

2 1-4 3 
'N 1 2:3 4 

C 

2 

4 

3 

2 

(a)  

(b)  

(c)  

(d) 1 3 2 4 

D 

3 

4 

4 

List-I 

(Vitamin) 

A. Vitamin A 

B. Vitamin B 

C. Vitamin C 

D. Vitamin D 

Codes: 
A B 

(a) 4 3 

(b) 2 1 

(c) 1 2 

(d) 1 3 
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142. Consider the following statements with reference to 
Special Officer for Linguistic Minorities 
1. In the Constitution, there is a provision for the 

post of Special Officer for Linguistic Minorities 
for every State. 

A new Article 350 B was added for this by the 
9th Constitution Amendment Act. 

Which of the above statements is/are correct? 
(a) Only 2 (b) Neither 1 nor 2 
(c) Only 1 (d) Both land2  

D.STF-1 -23 

142. TT4t r  f* TE1 Rct 

rHrr(d fRff1I: 

1. 1TT , d irrzft iif 
cfcr ijzr * 

2. 9 TTr t1tFr 3MIr RI rY. lch 
in 350BLi iu I 

*t-Tm If t 
(a) (b) r?r1rt2 
(c) (d) 121.i) 

143. The Concurrent list of the Indian Constitution 
includes: 
1. Trade and Commerce 
2. Adulteration of Goods 
3. Succession 

Select the correct answer from the codes given below 
(a) 1 and 3 (b) 1, 2 and 3 
(c) Only 1 (d) 2 and 3 

144. Fathima Beevi died recentl Consider the following 
statements regarding her: 
1. She was the first woman judge of the Supreme 

Court of India. 
2. She served as the Governor of Kerala from 

1997-2001. 
3. She was the first Muslim woman to enter into 

higher judiciary. 

Select the correct answer from the codes given below 
(a) land2 (b) land3 
(c) Only 1 (ci): 1,2and3 

145. With reference to the "National Intellectual Property 
Rights Policy consider the following statements 
1. It reiterates India's qommitment to Doha 

Development Agenda andjthe TRIPS agreement. 
2. Department of Industrial Policy and Promotion is 

the nodal agency for regulating Intellectual 
Property Rights in India. 

Which of the above statements is/are correct? 

(a) Only 2 (b) Neither 1 nor 2 
(c) Only 1 (d) Both 1 and 2 

146. Which Amendment Acts deal with Local Governance 
Institutions in India? 

(a) 63rd and
Amendment Acts 

(b) 86tF and 87th Amendment Acts 

(c) 42nd and 43 Amendiñent Acts 

(d) 73rd and 74th Amendment Acts  

143. 4TT 3iFf c) ft TFfr *i*: 
1. oJ4R1T1JT 

2. i[Të1 

3.  

(a) 13Th3 (b) l,23Th3 
(c) F1 (d) 23Th3 

144. rfT 4t i Ic1 iir T I 3R iI& 
rrr1 Ttftt: 
1. c4 '4flf q çj c) qf ifrr wmfr 

fti 
2. \3i1 1997-2001 

3. c1i 3c1c1k 1I1Y,rccJ dcb tf ift wft iftrrr 
rTftI 

(a) 12 (b) 13Rk3 
(c) (d) 1,23Th3 

145. "ut 1 I 1TE4T f" 
rHrr(d Ttff: 

1. 15 cIi f1E1TT I 1 F1t 5ffr ir 
c4) f c1Ic)IcH *1 

2. 311ftfIr ftfr ith iwr, wr 
W- 

fur * 
f-T/ R TI */*? 

(a) 2 (b) r r 1 r 2 I!J. 
(c) (d) 1321) 

146. *r-T iñr aTft1firrr nr n  
TfTr *? 

(a) 63 64 ffi1T 
(b) 86 3 87 ffr 
(c) 42 R1 43 

(ci) 73T 74 vr Pc1fTt 

El 
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147. Match List-I with List-Il and choose the correct 
answer using the codes given below the lists: 

List-I List-I! 

(Author) (Book) 

A. Lallanji 1. A Comprehensive History of 
Gopal India : The Delhi Sultanat 

B. Habib and 2. The Economic Life of 
Nizami Northern India 

C. K.S. Lal 3. Early Chauhan Dynasties 

D. Dasharatha 4. History of the Khaljis 
Sharma 

Codes: 

A B C D 

(a) 2 1 4 3 

(b) 1 2 3 4 

(c) 4 3 2 1 

(d) 3 4 1 2 
148. Consider the following statements: 

1. Kunwar Singh, Landlord of Jagdishpur in 
Bihar, led the rebellion against the British. 

2. Lord Daihousie recognised the adopted son of 
Rani Lakshmi Bai as the heir apparent. 

Which of the above statements is/are correct? 

(a) Only 2 (b) Neither 1 nor 2 

(c) Only 1 (d) Both 1 and 2 
149. Consider the following foreign travellers and arrange 

them in ascending chronological order: 

1. I-Tsing 
2. Al-Biruni 
3. Huentsang (Hiuen Tsang) 

4. Fahyan (Fa-Hien) 
Select the correct answer from the codes given below: 
(a) 1,2,3,4 (b) 4,3,1,2 

(c) 2, 1, 4, 3 (d) 3, 4, 2, 1 

150. Given below are two statements, one is labelled as 
Assertion (A) and the other as Reason (R). 
Assertion (A) : Balban made his government firm 
and centralised all authority in his hands. 
Reason (R) : He wanted to protect the north-west 
frontier against Mongol invasions. 
Select the correct answer from the codes given below: 

(a) Both (A) and (R) are true and (R) is the correct 
explanation of (A). 

(b) (A) is false, but (R) is true. 
(c) Both (A) and (R) are true, but (R) is not the 

correct explanation of (A). 
(d) (A) is true, but (R) is false. 
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 ft-II 1i& ft  

 Tt1* i1: 

() () 

A. 11 1. 3 ft 31T 

ifti-ici 

B. (&c1 2. cu1c 9T 3Th ;*1 

C. c1Ici 3. fci1wi j:)3j 

D. ?TI 4. 1t 31T 

D 
3 
4 

4 3 2 1 
3 4 1 2 

rHrrd r: 

1. 1[F F4kR, 

2. iW1 fl ri4 

th -u/ t*/? 

(a) t2 (b) T?tlTt2 

(c) [l (d) 132)11

 it 

1.'T 
2. 31- 
3. tRc*iiI 
4.  

(a) 1,2,3,4 (b) 4,3,1,2 
(c) 2,1,4,3 (d) 3,4,2,1 

150. WI 1L.& 'TQ *, fRi  3T1WI (A) T 

ikc1 (i)T 111 *I 

3fETT (A): *1*1 flR1'1 c41 *INI 31't 

I 3T it ch f9T 

cUj (R) :   ikTW ftr c4) W1T 4Uj 

(A) IT (R)  * (R), (A) c  Rt 

oII cI.Jc1I * 

(A) v1d , f (R) t * I 

(A) IT (R) cki) Wt *, fF (R), (A) c 

oIs.fl cI c1I 

(d) (A) IIt *, f (R) Ic1cI 

147.  

148.  

149.  

A B C 
2 1 4 

V 

(a)  

(b)  
(c)  
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1. *: 
(a)   +311F1 (b) *J: + 3flTT 

(c) Tr + (d) 

2. 

(a)  i11ctiiTd1*i 

(b) rrF* 
(c)  

(d) rtp 

3 fRT i T' ift *,  

(a) WTT 

(c) cTT 

4. -I 
TcI 

() 
A.  

B. Tf?r 

c. fit 

D.k 

C' 

(IT 

(d) IcIUI 

-Ii1i r1 rn 
 PR: 

ci1-ii 
(*t2ff ic) 

1. 1T{,IT 

2.  

3. w% ,11iF 

4.  

A B C 
(a) 3 4 1 
(b) 4 2 1 
(c) 1 2 3 4 
(d) 2 3 4 

5. t-i fl-ii rr 

t rlI 

() 

A. 1. 

B. {?tic 2. 

C. rr 

D. 1iii~i 

C' 

A B C 
(a) 2 3 1 
(b) 1 4 2 3 
(c) 3 1 4 2 
(d) 4 2 3 

(f-;mT) 

u1ftT 

uI 

1ffT 

D.STF-2-24 

6. 

(a)  

(b) 9t 4) wrrr 

(c) c 1 h WR9T cki I 

(d) I 

7. '4TT' fr 

(a)  

(b) ft3RTT 

(c) flft1T 

(d) VT1 

8. 
(a) 1T (b) 

(c) T (d) 

9. Hrdc*: 
(a) (b) Fft4 

(c) 4th* (d) ifr 

10. 
(a) T,RTU1T,o-i*ii 
(b) JiTR 
(c) 11,dc1H,T1 
(d) 3iIT 

11. rHrrdd  

1. Tc4RcbTh Ii)I 
2. "MR i w1r TIcu 
FTTTi  
(a) 132  It* (b) 1Th2c)'i1 flcicl* 
(c) 1ttfl2flc1d* (d) 1flc1dtE2Tt* 

12. ?14t R1Tk r 
WH 

1. 3IJ, *I-M 

2. 1wif, WcRUt, 3kII, c*ift 

3. 1frfl, 1'-IRI, tiR 1Jc1l1 

4. dYdd, T, - iii, Thr 

(a) 34rt (b) 14ft 
(c) 13Th2Tt (d) 23F 

13. 1Hr1Rd io 

(a) Tft (b) rrr 

(c) cfrR (d) c1 
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20. 

(a) 1T (b) 1RIc1 (a) 1T1PF fFft i rrt fft 

(c) &c1IT (d) - Ic1-1 (b) ii'41[ 
(c) TUT c 

15. ftt 1TFQ IIci1H TEt T H flcic1 c1 (d)  w 1TIT 

(a) IET4 — 3IcI4 (b) cFc1 — fc1 IiRici 'I1i! 277 V! ?1211 M.1 -fII 21 25 

(c) WI1T — 31kbc1t (d) — cich 3r1' 1 'IIi?i 3117 1T 11it: 

14. 

16. HR11c1 tt I'1-IT PIcI  

(a) —fi (b) TF—I 

(c) 4c1u — cflu1 (d) ir — 

17. 1.1c4I11  

(a) (b) I-ii, 1- ci 

(c) 1,dIHkz1 (d) 3'TTFF 

18. if-I -II1d 

(w) (lcllr.1'l i) 

A. FCT 1. TAT cI1.-c1 

B. 11UI 2. 

C. 1TfT 3. , , 3HI 

D. cfl 4. 

A B C D 

(a) 3 4 1 2 

(b) 2 1 4 3 

(c) 4 3 2 1 

(d) 1 2 3 4 

19. 

(a)  

(b) 1h[I 

(c) 1d 31tTkI 

(d)  

"T 4 ft $t fKfl rft t 
*   1c11 14, 1II  (Sl 

rft* ifl  *1   ii  
rii  

* it 1T 11 R9T 11? ?IT c 3ft 
dlcbcl c1I * -H1I cb) !4cbI! if 31t T 14t icicii 

* Rtr-.*r E1t c1cbk c1c1 , Tftf T cbI * I 

Tk T i T3 

t ir fq 

[RTt * 

21. k1ifl f1Id 4) rdT1T*? 

(a)  
(b) c1fl*I 

(c) c)ilj*I 

(d)  

22. 
(a) '*1Hc1 319'T k T1T 3IT 1ft 
(b) 1Hc1T9T31Tif 
(c) HHd 4   rr irr 3114t 
(d) *i1Ic1 ttc'iI T9T3RTTft 

23. ifi Rk i fc1 ic 41 

(a) &t 3T cfl (b) 3nt r cf) 

(c) 3t1t (d) iftc1) 

24 

(a) (b) dIHfr 

(c) ccc*I (d) 'cMI 

25 mtfi41  r ii ctll*7  

(a) -1  1kici -w-ii -i rft* I 

(b) ____ 
(c) 1Ic1c1 1&, 1c1cbci tft* 

(d)  
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26. Fill in the blanks with the correct options. 

he worked, he failed." 

(a) Though; yet 

(b) Other; than 

(c) No sooner; than 

(d) Hardly; when 

27. Fill in the blank with the correct option. 

one of the boys was in the playground. 

(a) Either (b) Every 

(c) Neither (d) All 

28. Find the correct sentence.: 

(a) He is too rich not to starve. 
I 

(b) He is too rich and he starve. 

(c) He is too rich to starve. 

(d) He is rich enough to starve. 

29. Choose the correct antonym of the following 

word. 

Gloomy 

(a) Boring 

(b) Straight 

(c) Cheerful 

(d) None of the above 

30 Select the word which is oposite in meaning  

D.STF-2-24 

34. Find out the synonym for the italicised word 

given in the following sentence. 

He was filled with remorse for the action. 

(a) regret (b) despair 

(c) repentance (d) revulsion 

35. Which of the following is the correct passive 

form of the following? 

"Who has cut the tree ?" 

(a) By whom was the tree cut? 

(b) By whom was the tree cut by? 

(c) Who has the tree been cut? 

(d) By whom has the tree been cut? 

36. Change into direct form: 

I said to him, "How do you know this ?" 

(a) I told him how I knew that. 

(b) I asked him how he knew that. 

(c) I asked him how I knew that. 

(d) I asked him that how he knew that. 

37. 
of the following: 

Indiscreet 

(a) Prudent 

(c) Reliable 

rn 

(b) Stupid 

(d) Honest  

Choose the correct option to find out the 

meaning of the idiom given below: 

'To end in smoke'. 

38. 

31. The art of beautiful handwriting is known as: 

(a) Stenography (b) Orthography 

(c) Calligraphy (d) Designing 
32. Choose the correct alternative which replaces 

the given statement/sentence: 

"Anything written in aOltter after it is 
signed". 0

(a) Corrigendum (b) Postdiction 

(c) Postscript (d) L.anuscript 

33. Which among the following is a correctly spelt 

word? 

(a) Obliterait (b) Obleturate 

(c) Obleterate (d) Obliterate  

(a) To find out the smoke 

(b) To find out the result in the end 

(c) To come to an end 

(d) To have no result; to come to nothing 

What is the meaning of the idiom, 'Blow one's 
own horn'? 

(a) To suddenly become very angry 

(b) To announce self defeat 

(c) To boast about oneself 

(d) To be the devil's advocate 

A4A 
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39. Select the correct order of mending the 

puncture in a cycle tube: 

1. Wait for material to dry. 

2. Remove tyre and tube and dip in water to 
check. 

3. Fix the tyre and tube. 

4. Mark the spot and apply puncture 
mending material. 

(a) 2,3,1,4 (b) 4,3,2,1 

(c) 2,4,1,3 (d) 1,3,2,4 

40. Fill in the blank with the correct option. 

We ourselves to the circumstances. 

(a) Adopt (b) Adapt 

(c) Adept (d) None of the above 

Read the following passage carefully and answer 

questions number 41 to 45 based on the passage. 

Leadership studies is an emerging discipline, and 

the concept of leadership will continue to change. 

Leadership lore is defined as an influence among 

leaders and followers who want real change and 

outcomes that reflect their purpose shared by the 

leaders and their followers. Influence means that 

the relationship among people is not passive; 

however, also part of this definition is that influence 

is multidirectional. It does not use orders or threats 

to make somebody do something. Leadership is 

something a leader does to a follower. However, 

leadership has an effect in both directions. In most 

organizations, superiors influence subordinates, but 

subordinates influence superiors as well. The people 

involved in the relationship want real and 

important changes — leadership involves creating 

change, not maintaining what normally happens. In 

addition, the changes sought are not dictated by 

leaders, but reflect the purpose that motivates them 

toward this more preferable outcome. An important 

aspect of leadership is influencing others to come 

together around a common vision. Thus, leadership 

involves the influence of people to bring about 

change towards a desirable future. 

41. The concept of leadership discussed in this 

passage is: 

(a) Individualistic 

(b) VerticallTop-down 

(c) Horizontal 

(d) Exceptional 

42. "Leadership studies is an emerging discipline" 

means: 

(a) Leadership studies is an elaborate field. 

(b) Leadership studies is an evolving domain 

of scholarship. 

(c) Leadership studies is a valid field of 

researchC 

(d) Leaders1ijp studies is an established field. 

43. What should be the outcome of leadership 

actions? 

(a) Movement towards the vision of the 

majority. 

(b) Movement and strengthening of the 

authority of leaders. 

(c) Movement towards common vision of the 

leader and the followers. 

(d) Movement towards the vision of the 

leader. 

44. Find the synonym for the word 'traditions' in 

the above passage. 

(a) Lore (b) Relationship 

(c) Leadership (d) Organization 

45. What is the main theme of this passage? 

(a) Future of a country 

(b) Pohticsf a country 

(c) DiscussTdn about followers 

(d) ExplaniQn of leadership construct 

A5A 



x =2, then the value of 46. 2x2  f 2 

3x2  + 4x +3 

(a) 
3 

1 (c) 
2 

will be: 

4 

11 

2 

5 

(b) 2 

(d) 

(a)
4 

11
(b) 2 3 

(c) (d) 

47. HCF (306, 657) = 9 fT* I 
LCM (306, 657) iii IfrQ I 

(a) 22318 (b) 33228 
(c) 22338 (d) 21331 

48. 0235 =? 

237 

990 

235 
(c)  

990 

(a) (b) 

(d) 

235  

1000 

233 

990 

49. ' ctH' 3R ' TT' ¶1UT 
cLcI 

(a) c1cTt (b) -f;T: 

(c) (Tt1r) (d) RTftrEfT i 

50. 411(1, x),(5, 2)3Th(9, 5),xT 

(a) -1 (b) 1 

(c) (d) _ 

51. r1 
'iii  

(a) 54W12 (b) 32fl2  

(c) 90 2
(d) 81 2 

52. rHrr(d f*? 

(a) 12 

(c) 8 

D.STF-2-24 

46. 2x2 +2 
x 3x2 +4x+3 

47. Given HCF (306, 657) = 9. 

Find the LCM (306, 657). 
(a) 22318 (b) 

(c) 22338 

48. 0235 =? 
237 

(a)  (b) 
990 
235  

(c)	 (d) 
990 

49. Ogive curves for 'more than' type and 'less 
than' type distribution intersect at: 
(a) mode (b) origin 
(c) mean (d) median 

50. If the points (1, x), (5, 2) and (9, 5) are 
collinear, the value of x is: 
(a) -1 (b) 1CN 

5 (I (c) - (d) - 

N 
51. 2 cubes, each of volume 27 are joined end 

to end, then the surface areaJof the resulting 
cuboidis: 

(a) 54\ cm2  

(c) 90 cm2  

52. How many triangles are there in the following 
figure? 

cr 
(b) 1 

(d) i3J 
In 

53. The missing number in the series is: 

4, 18, 48,?, 180 
(a) 90 (b) 100 
(c) 60 (d) 80 

3g28 

(d) 21331 
N 
UI 

:[ôôø 
233  

990 

(b) 32 cm2  

(d) 81 cm2  

(a) 12 (b) 11 
(c) 8 (d) 10 

53. ft4, 18,48,?, 

(a) 90 (b) 100 
(c) 60 (d) 80 
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54. 196 is distributed in 300 children. If girls 

gain I and boys 50 paisa, then what is the 

number of boys? 

(a) 212 (b) 214 

(c) 208 (d) 210 

55. x — 4 and 2x — 1 are factors of which of the 
following polynomials? 

(a) 2x3  + 7x2  — 5x + 4 

(b) 2x3  — 7x2  — 5x + 4 

(c) 2x3  + 7x2  + 5x + 4 

(d) 2x3  — 7x2  + 5x — 4 

56. 13 is related to 2190 in the same way as 14 is 
related to: 

(a) 2738 (b) 2739 
(c) 2736 (d) 2737 

57. In a circle, if radius is doubled, what happens 
to the area? 

(a) It quadruples 

(b) It remains the same 

(c) It doubles 

(d) It triples 

58. The values of x and y in the following diagram 
are: 

(a) x=9,y=16 (b) x=16,y=9 

(c) x=7,y=18 (d) x=18,y=7 

59. The value of which of the following will 
not change if a constant number is added to all 
the scores of a series? 

(a) Mode 

(b) Standard deviation 

(c) Mean 

(d) Median 

60. If the side lengths of a square are doubled, 
then how much area will be increased? 

(a) 4 times (b) 5 times 

(c) 2 times (d) 3 times 

54. 196 c) 300 wThif  — -ii i 
!  

(a) 212 (b) 214 
(c) 208 (d) 210 

uI.1u x — 4 

2x — 1*? 

(a) 2x3  + 7x2  — 5x + 4 

(b) 2x3  — 7x2  — 5x + 4 

(c) 2x3  + 7x2  + 5x + 4 

(d) 2x3  — 7x2  x —4 

56. fTT FTt 13 1T?F * 2190 , 3fl r9T 14 iifTr 
* ifl 
(a) 2738 (b) 2739 
(c) 2736 (d) 2737 

57. TcIN1tT 
c4 I PTh[ T1T *? 

(a)  I4RTt'1Ic1I* 

(b) Tt*c1I* 

(c) iIt'iIciI* 

(d) dT'tiIiI* 

58  

(a) x=9,y=16 (b) x=16,y=9 

(c) x=7,y=18 (d) x=18,y=7 

59. i1 T ft 34f  

 t rHrVrd ii• Ti 'RTT I 4kcc4 St 

'1ii ? 
(a) cz'1cb 

(b)  

(c) %11TT) 

(d) 'Th1°b i) 

60. 
TllI? 

(a) tRRT (b) Tt'RT 

(c) tRT (d) cfl'iRT 
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 —3 61. x3 -6x2 +2x-4),--x+1? 
2 

27 

62. xT1*: 

(c) 

(a) 136 

136 
(b) - 136 

(d) - 
136 
27 

(a) 1100 (b) 100° 

(c) 130° (d) 120° 

D.STF-2-24 
L!i 

61. By dividing x3  - 6x2  + 2x —4 by	  x + 1, the 
2 

remainder is 

(a) 136 (b) - 136 

(c)
136

(d) - 
136  

27 27 

62. The value of x in the given figure is: 

63. If the median of the following data is 11, then 
find the value of K: 

3, 21, 10, 7, 6, 9, (K + 6), 15, 20 
(a) 6 (b) 5 
(c) 4 (d) 7 

64. The number of integers n satisfying 
—n+2~0and2n~4js: cY 

0 (a) 2 (b) 
(c) 0 (d) f\J 

Li) 
65. 3-digit largest prime numberjs: 

(a) 997 (b) !;i3 
(c) 999 (d) 998 

66. LetA={a,b,c,e,fg},B{b,c,d,fgh} 
and C = {c, d, e, g, h, ii. 'The value of 
((A—B)—(A—C)—(C—B))js: 

(a) {c} (b) 

(c) {a} (d) {b} 

67. Who first calculated the value of m? 

(a) Aryabhatta CT 
a (b) Thales 

(c) Pythagoras NI 
Li) (d) Archimedes  

63. zf IHrci Id T i fl 11*, K T If 
1Id1fR: 
3, 21, 10, 7, 6, 9, (K + 6), 15, 20 
(a) 6 (b) 5 
(c) 4 (d) 7 

64. 

ft *, *: 
(a) 2 (b) 4 
(c) 0 (d) 1 

65. cfi 3Tt&ii*: 
(a) 997 (b) 996 
(c) 999 (d) 998 

66. HftfrQrA={a, b, c, e, f, g}, 
B = {b, c, d, fg, h}?FT C = {c, d, e, g, h, i}* 
((A—B)—(A—C)—(C—B))T* 

(a) {c} (b) 
(c) {a} (d) {b} 

67. 2 I W-U9-TIT fi&t cf) p-ft? 
(a) WR! 

(b) r 

1T1T 

(d) i11ftr a 
ff- 
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68. Zçf 10% cUIh o1I'1 t 2 Riff 
3Th 1ToTh t'3W 12*,tc 

 ir 
(a) 1000 (b) 2400 

(c) 240 (d) 1200 

69. 4z1 45 cçj1. 5 c4ç ' I19b1 1k1k 

If iii *  c F1fIc1 if ? 

(a) 125% (b) 10% 

(c) 9% (d) 1F11% 

70. o*b (x + y)3  + (x - y)3  T UH{kJ 

(a) 2xx-3y2) (b) 2x (x2  + 3y2) 

(c) 3x-3y2) (d) 3x (x2  + 3y2) 

71. 

 1c4) i5 t*IA31t 

(a) 21 (b) 20 

(c) 18 (d) 1875 

72. 40 Wt T h'l (CP) 30 Wt Ih  
1I1 

(a) 33.3% (b) 22% 

(c) 20%: (d) 25% 

iii 6 ffft/T& t  

'k 3*ft iii 3 f~t/EPJ t 1 M PT T * I 

(a) 4ift/Ef2T (b) 9f~ttEIaT 

(c) 45ft/J[ (d) 3f4t/E[& 

74. jc  W. t 53 11Ibc1 34T 

11'4cz121IH )dI*td&.n*: 

(a) 1723 (b) 1924 

(c) 1823 (d) 1800 

75. A = {0, 1, 2}  4) zi *ft: 
(a) 9 (b) 8 

Lfl 
(c) 6 ::. (d) 7 

73. 1c 
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68. If the difference between compound interest 
and simple interest on a sum of money in 
2 years at 10% annual interest rate is 12, 

then find the amount. 

(a) 1000 (b) 2400 

(c) 240 (d) 1200 

69. Surya sells 45 pens and suffers a loss equal to 
the selling price of five pens. What is his total 
loss percentage? 

(a) 125% (b) 10% 

(c) 9% (d) 1F11% 

70. The factor of expression (x + y)3  + (x - y)3  is: 

(a) 2x (x2  - 3y2) (b) 2x (x2  + 3y2) 

(c) 3x (x2  - 3y2) (d) 3x (x2  + 3y2) 

71. The work capacity of A is three times more 

than that of B. Both of them together can 

complete a work in 15 days. In how many days 

will A alone complete that work? 

(a) 21 (b) 20 

(c) 18 (d) 18•75 

72. The cost price of 40 oranges is equal to the 
selling price of 30 oranges. Find the 

percentage pro fit. 

(a) 33.33% (b) 22% 

(c) 20% (d) 25% 

73. A man covers half of his journey at a speed of 
6 km/hr and the remaining half at a speed of 

3 km/hr. His average speed is: 

(a) 4km/hr (b) 9km/hr 

(c) 45 km/hr (d) 3km/hr 

74. A number when divided by 53 gives 34 as 
quotient and 21 as remainder. Then the 
number is: 

(a) 1723 (b) 1924 

(c) 1823 (d) 1800 

75. The number of subsets of A = {0, 1, 2} will be: 

(a) 9 (b) 8 

(c) 6 (d) 7 
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76. Which of the following type of memory has the 
shortest duration? 
(a) Echoic memory 
(b) Iconic memory 
(c) Working memory 

(d) Immediate memory 

77. Functional fixedness is a kind of 
(a) Creativity bias 
(b) Mental set 

(c) Forward working 
(d) Confirmation bias 

78. 	  is/are used by human beings most 
of the time to control the behaviour of others 
as well as of themselves. 
(a) Postures c±h) Punishment 
(c) Rewards Words 

79. It is human nature to know why we/others 
behave in a specific way. The process of 
explaining our own and others' behaviour is 

(a) Discrimination 
(b) Attribution 
(c) Altruism 

(d) Prosocial behaviour 

80. Tendency of people to like each other is 

(a) Discrimination d. 
(b) Attractiveness 
(c) Reciprocity of 1ik 
(d) Prejudice 

81. Which decision-makjn bias refers to the 
tendency to give excessive weight to the first 
information received? 
(a) Availability heuristic 
(b) Hindsight bias 
(c) Anchoring bias 
(d) Confirmation bias 

82. What are the four basic communication 
skills? 

1. Understanding 2. Listening 
3. Informing 4. Speaking 
5. Observing Reading 
7 Influencing Writing 
Select the correct anst4 from the codes given 
below: 
(a) 1, 3, 7, 8 (hI 7, 2, 5, 6 
(c) 3, 5, 2, 7 (d) 2, 4, 6, 8  
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76. iHr r(d c) r1r c) 

(a) 1TfT 

(b) rdHlr 

(c)  

(d) dft4Irfr* 

77.  

(a)  

(b)  

(c) 3 1IftchIIcHchc1I 

(d)  

78. RI WT 3T'1 VP-IT th oic1u. 

rttft I 
(a) 11 (b) &1T 

(c) k'4R (d) 

79. /# ç- ) I ct f;ifj 

HI t  * rft 
Ik UTtT  c iiçflj 

(a) fii 

(b)  

(c) -i'Jcicii 

(d) jcftho1Ik 

*1 
(a) fui 

b) 3JcIcJf 

c) 1 1RT 

d) ih 

1R IIH IHctIU ft 
 t 1ftEft iT *? 

a) 'T?FThT 11H 

c) ftTqfh 

d) ul 1 hT ___ 
R icfl (VT) qvj 4TF cf 

1. WTT 2. +ii 

3. 4. 1T 
5. 1c1'1ch*iI 6. 1I 

7. P1TEft 8. fTrRT 
1k&w FQ: 

(a) 1, 3, 7, 8 (b) 7, 2, 5, 6 
(c) 3, 5, 2, 7 (d) 2, 4, 6, 8 

JJJRI'4UI 

80.  

81.  

82.  
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83. 	  is influenced by inter-personal 
context. 

(a) Problem solving 

(b) Education 

(c) Speech style 

(d) Gesture and posture 

84. Among 200 persons, 90 people like tea while 
108 people like coffee and 46 people like both 
tea and coffee. How many people like neither 
tea nor coffee? 

(a) 62 (b) 46 

(c) 48 (d) 44 

85. If CONSTABLE is coded as 91, what will be 
the code number for STABLE? 

D.STF-2-24 

83. rth Rl T1FtT* 

(a) 4:1-ft -wrr-iir 

(b) fT1T 

(c) T?ft 

(d) T(4fi11lT) 

200 r1 k 90 i1i  
108 I EI?t * Th 46 I I 

(a) 62 N (b) 46 

(c) 48 (d) 44 

CONSTABLE?t 91 1TId1 

*, t STABLE t I i'f1? 

84.  

85.  

(a) 59 (b) 75 

(c) 97 (d) 78 
(a) 59 (b) 75 

(c) 97 (d) 78 

86. If BELONGINGS is coded as TABLESTESF, 
how will you code LINEN? 

(a) BATEA (b) TABEA 

(c) BTEAE (d) BTAEA 

87. Which one is different from the other three? 

(a) Gate (b) Window 

(c) Door (d) Table 

88. As 'poster' is related to 'wall', in the same way 
'photograph' is related to: 

(a) People 

(b) Frame 

(c) Camera 

(d) Beauty 

89. When two people get together, the one 
who appears more relaxed in body language 

(a) is senior in age 

(b) belongs to higher socio-economic status 

(c) is higher in power hierarchy 

(d) All of the above  

86. BELONGINGS t TABLESTESF  
iii? 

(a) BATEA (b) TABEA 

(c) BTEAE (d) BTAEA 

87  

(a) '-bIb (b) SICR1 

(c) cIIjI (d) hi 

88. '' W ft *,  t  

(a) c1 I (People) 

(b) bH (Frame) 

(c) 1RU (Camera) 

(d) k1J*1I (Beauty) 

89.
___ 

tT * I 

(a) 3TEIt 

(b)  

(c) T&/Tffl TF  

(d) iP1 
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90. What are the examples of interpersonal 
communication? 

1. Seminar 

2. Journalism 

3. Office operation 

4. Letter writing 

5. Study—Teaching 

6. Conversation 

7. Interview 

Select the correct answer from the codes given 
below: 

(a) 4,5,2,1 (b) 2, 35, 7 
(c) 2,4,7,6 (d) 

91. Which of the following is example of 

mediated communication? 

(a) Students work on a class project together 

(b) A politician addresses a nominating 
convention 

(c) Two friends gossip with one another 

(d) A newscaster delivers the weather report 
on 9 o'clock news 

92. The role of a leader is define by the three 

circles of need: 

1. Task 

2. Function
N 

3. New ideas 

4. Team 

5. Process 

6. Communication 

7. Individual 

Select the correct answer from the codes given 
below: 

(a) 1, 4, 7 (b) 3, 1, 6 
(c) 7, 5, 3 (d) 2, 4, 1 

93. If in a non-leap year, it Tuesday on 
28th February, then what lty will be on 

March of that year? 

(a) Tuesday (b) Suny 

(c) Monday (d) Nocf the above  
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90. drmh I vI r-r 

1.  

2. .iictIFkci 

3. iq1ciThI hiiii 

4. 15[ 

5. F-31T1r 

6. c4tclkllLl 

7. T1IcR 

iT IR: 

(a) 4, 5, 2, 1 (b) 2, 3, 5, 7 
(c) 2, 4, 7, 6 (d) 6, 7, 5, 3 

91. 

(a) T5 4) fftT ifiC lc4 kI 

(b) cf th1-k1I IJ-IIcH c4) frrr 

(c)  

(d) f1 fff dHI'1R c1c+1I RI 9 sj  cf) üii 
i  

cI c1I t i1EfT Ic41dT fli rf RI 
TrTft*: 

2.  

3. RfR 

4. z1H 

5. u1i 

6. T 

7.rf 

kTW'1 r: 

(a) 1,4,7 (b) 3,1,6 
(c) 7,5,3 (d) 2,4,1 

\34 I28ci) l- Ic1c4Ik 
h1T*,28 Ic1c  

(a) l.JIc1c4R (b) 14R 

(c) ThciR (d) 

92.  

93.  
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94. Which of the following is a characteristic of a 
good decision? 

(a) It is made quickly 

(b) It ignores stakeholders' interest 

(c) It is feasible and achievable 

(d) It is based on intuition 

95. The process of problem solving where the 
problem has only one single answer is  

(a) Convergent thinking 

(b) Trial and error 

(c) Insight 

(d) Divergent thinking 

96. Find the missing number in the following 
arrangement based on some principle: 

10 7 4 

3 ? 9 

15 18 21 

Select the correct answer from the code given 
below: 

(a) 6 (b) 8 

(c) 4 (d) 5 

97. What will be the next item in the series 

7, 11, 19, 35, 67  

(a) 131 (b) 133 

(c) 99 (d) 121 

98. 	 allows several people to use software 
at the same time to create documents, keep 
track of projects. 

(a) E-mail (b) Network 

(c) Software (d) Groupware 

99. Another name of interpersonal communication 
is 
(a) Diadic communication 

(b) Virtual reality 

(c) Mass communication 

(d) Face-to-face public communication 

100. Which one of the following pairs is not 
correctly matched? 

(a) Pavlov — Gestalt theory 

(b) Skinner — Operant conditioning 
theory 

(c) Kohler — Insight theory 

(d) Thorndike — Stimulus-response bond 
theory 
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r-4 i  3 fu1i c 

(a)  

(b)  

(c) 41RUHL.1* 

(d)  

-ji-  1fl[ t Fb1 3j 

31k 1cii *: 
(a) 311TtIcH 

(b) lc1  

3IJ 

(d) 3rd1 

7 4 

3 ? 9 

15 18 21 

4b   TW'1 

(a) 6 (b) 8 
(c) 4 (d) 5 

7, 11, 19, 35, 67  t 9T 3PT9T tf 

(1T)ITT1Il? 

(a) 131' (b) 133 

(c) 99 (d) 121 

98 ci'ii1 ft 1 

41T1 * if  

(a) -ki (b) 

(c) (d) 

99. (NR T TU 11R 

(a)  

(b) NTftc1ftc1Ibc1I 

(c) '*1k1R 

(d) 3-tIt'1lk 

100. 

— j'lIcbR1Ic (tic-. ffrcl) 

— 1h1IRIr1kaId 

3F (t) Tfid 

-31h-1l ffaId 

94.  

95.  

96.  

97.  

(a) 

(b)  

(c)  — 

(d) U4I — 
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